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Q1. How many of the below mentioned sites are 
Neolithic sites of India?

1. Brahmagiri
2. Utnur
3. Langhnaj
4. Belan Valley

Choose the correct code:
 (a) Only one   
(b) Only two
 (c) Only three   
(d) All four

Q2. Consider the following statements
1. Global Declaration for River Dolphins is a 

UN administered declaration with a focus on 
responsible freshwater dolphin conservation.

2. All six species of river dolphins are classified as 
Critically Endangered on the IUCN Red List of 
Threatened Species.

Choose the incorrect statements:
(a) 1 only    
(b) 2 only
(c)  Both 1 and 2   
(d)  Neither 1 nor 2

Q3. In marketing, “dark patterns” refer to —
(a) Phases of depression in business cycle 
(b)  Nudging consumers to buy goods or services 

they did not intend to buy
(c) Forcing consumers to share their financial data 

like credit/debit card details  
(d) Sellers or service providers promising one type of 

goods or service while delivering another one

Q4. The ‘Cool Coalition’, a global pledge to 
reduce cooling-related emissions launched at 
the COP28 climate summit, is led by which 
organisation/ group/ initiative ?

(a) United Nations Framework Convention on 
Climate Change (UNFCCC)   

(b) Intergovernmental Panel on Climate Change 
(IPCC)

(c) Under 2 Coalition   
(d) United Nations Environment Programme 

(UNEP)

Q5. Consider the following statements regarding 
Thallium:

1. It is an odourless, tasteless chemical used in 
science laboratories and chemical industries.

2. It is mostly harmless to humans.
3. It can be used as pesticides and insecticides.

How many of the above statements is/are correct?
(a) None    
(b)  Only one
(c) Only two   
(d)  All three

Q6. Consider the following statements regarding 
‘Vienna Convention on Diplomatic Relations 
(VCDR)’

1. The Convention was signed in 1961 and 
currently has 193 parties to it.

2. India signed the treaty in 1965, but has not 
ratified it till now.

3. Recently, Canada has requested India to ratify 
VCDR.

Which of the statements mentioned above are not 
correct?
(a) Only 2   (b) 2 and 3 only
(c) Only 1   (d) 1 and 3 only

Q7. Consider the following statements regarding 
‘Summit of Three Basins’

1. The summit is held recently in Nairobi, Kenya.
2. The three basins of the summit are Congo Basin, 

Amazon Basin and Zaire Basin.
3. These 3 global ecosystems account for 80% of 

the world’s tropical forests and 2/3 of the earth’s 
biodiversity.

Which of the statements mentioned above are not 
correct?
(a) Only 3   (b) 2 and 3 only
(c) Only 2   (d) 1 and 2 only

Q8. With reference to the fertiliser subsidies, consider 
the following statements:

1. The Nutrient Based Subsidy Scheme has been 
implemented since 2010 by the Ministry of 
Agriculture.

2. Under the scheme, fertilisers are provided at 
subsidised rates based on the nutrients contained, 
namely Nitrogen, Phosphate, Potash and Ure(a) 

3. The government decides where companies can 
sell the fertilisers apart from subsidising and 
deciding at what price companies can sell.

How many statement/s given above is/are correct?
 (a) One only   (b) Two only
 (c) All three   (d) None

Q9. Consider the following statements regarding 
Whole-Genome Sequencing (WGS):

1. WGS allows rapid identification of the origin 
and drug resistance (DR) profile of TB strains in 
the patients.

2. The genomic data of the organism can help 
in Tuberculosis  surveillance and detecting 
resistance. 

Which of the statement/s given above is/are correct?
(a) 1 only   
(b)  2 only
(c) Both 1 and 2   
(d) Neither 1 nor 2
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1.  नीच े उल्लिलित स्थलिों में स े लितन े भारत िे 
नवपाषाणिालिीन स्थलि हैं?

1.  ब्रह्मगिरि
2.  उत्नूि
3.  लंघ्ाज
4.  बेल् घाटी
सही िोड चनुें:
(a) केवल 1
(b)  केवल 2
(c) केवल 3
(d)  सभी 4

2.  लनमनललिलित ि्थनों पर लवचार िरें?
1.  ्दी डॉग्फ़ि् के गलए वगैविक घोषणा एक संयुक्त िाष्ट्र प्रशागसत 

घोषणा ह ैगजसका धया् मीठे पा्ी की डॉग्फ़ि् संिक्षण पि ह।ै
2.  ्दी डॉग्फ़ि् की सभी छह प्रजागतयों को IUCN की 

संकटग्रसत प्रजागतयों की लाल सनूची में िंभीि रूप से 
लुप्तप्राय के रूप में विगीकृत गकया िया ह।ै

गलित ि्थन चनुें:
(a) केवल 1   (b) केवल 2
(c) 1 औि 2 दो्ों  (d) ् तो 1 औि ् ही 2

3.  लवपणन में, “डाि्क  पटैन्क" िा तातपर्क ह-ै
(a) वयापाि चक्र में गडपे्रश् के चिण।
(b)  उपभोक्ताओ ं को उ् वसतुओ ं या सेवाओ ं को खिीद्े के 

गलए पे्ररित कि्ा गजनहें वे खिीद्े का इिादा ्हीं िखते 
थे।

(c) उपभोक्ताओ ंको अप्े गवत्ीय डेटा जसेै के्रगडट/डेगबट काड्ड  
गवविण साझा कि्े के गलए मजबनूि कि्ा।

(d)  गवके्रता या सेवा प्रदाता एक प्रकाि की वसतु या सेवा का 
वादा किते हैं जबगक दनूसिी प्रकाि की वसतु या सेवा प्रदा् 
किते हैं।

4.  COP28 जलिवार ु लििर सममलेिन में लिॉनच िी गई 
िीतलिन-संबंधी उतसज्कन िो िम िरन े िी वलैविि 
प्रलतज्ा ‘िूलि गठबंधन’ िा नतेतृव लिस संगठन/समूह/
पहलि द्ारा लिरा जाता ह ै?

(a) जलवायु परिवत्ड् पि संयुक्त िाष्ट्र फे्मवक्ड  कनवेंश् 
(UNFCCC)

(b)  जलवायु परिवत्ड् पि अंति सिकािी पै् ल (IPCC)
(c) व्फड्ड  वाइ्फडलाईफ फंड फॉि ्ेचि 
(d)  संयुक्त िाष्ट्र पया्डविण काय्डक्रम (UNEP)

5.  ्थलैलिरम िे संबंध में लनमनललिलित ि्थनों पर लवचार 
िरें :

1.  यह एक िंधही्, सवादही् िसाय् ह ै गजसका उपयोि 
गवज्ा् प्रयोिशालाओ ं औि िासायग्क उद्ोिों में गकया 
जाता ह।ै

2.  यह अगधकति म्ुष्यों के गलए हाग्िगहत ह।ै
3.  इसका उपयोि कीट्ाशकों औि कीट्ाशकों के रूप में 

गकया जा सकता ह।ै
उपरोक्त में स ेलितन ेि्थन सही हैं/हैं?
(a) उपयु्डक्त में से कोई ्हीं
(b)  केवल एक
(c) केवल दो
(d)  उपयु्डक्त सभी

6.  ‘लवरना िनवेंिन ऑन लडपलिोमलैटि ररलििंेस (VCDR)’ 
िे संबंध में लनमनललिलित ि्थनों पर लवचार िरें?

1.  कनवेंश् पि 1961 में हसताक्षि गकए िए थे औि वत्डमा् में 
इसमें 193 पक्षकाि हैं।

2.  भाित ्े 1965 में इस संगध पि हसताक्षि गकये थे, लेगक् 
अब तक इसका अ्ुमोद् ्हीं गकया ह।ै

3.  हाल ही में क्ाडा ्े भाित से VCDR का अ्ुमोद् कि्े 
का अ्ुिोध गकया ह।ै

ऊपर उल्लिलित िौन स ेि्थन सही नहीं हैं?
(a) केवल 2    
(b)  केवल 2 औि 3
(c) केवल 1    
(d)  केवल 1 औि 3

7.  ‘तीन बलेसनों िे लििर सममलेिन’ िे संबंध में 
लनमनललिलित ि्थनों पर लवचार िरें

1.  गशखि सममेल् हाल ही में केनया के ्िैोबी में आयोगजत 
गकया िया ह।ै

2.  गशखि के ती् बेगस् कांिो बेगस्, अमेज़ॅ् बेगस् औि 
जायिे बेगस् हैं।

3.  ये 3 वगैविक पारिगसथगतकी तंत्र दुग्या के 80% 
उष्णकगटबंधीय जंिलों औि पथृवी की जवै गवगवधता का 2/3 
गहससा हैं।

ऊपर उल्लिलित िौन स ेि्थन सही नहीं हैं?
(a) केवल 3    (b) केवल 2 औि 3
(c) केवल 2    (d) केवल 1 औि 2

8.  उव्करि सल्सडी िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  कृगष मंत्रालय द्ािा पोषक ततव आधारित सग्सडी योज्ा 
2010 से लािनू की िई ह।ै

2.  योज्ा के तहत, उव्डिकों को ्ाइट्रोज्, फॉसफेट, पोटाश 
औि यनूरिया जसेै पोषक ततवों के आधाि पि रियायती दिों 
पि प्रदा् गकया जाता ह।ै

3.  सिकाि सग्सडी दे्े के अलावा यह भी तय किती ह ैगक 
कंपग्यां उव्डिक कहां बेच सकती हैं औि कंपग्यां गकस 
कीमत पि उव्डिक बेच सकती हैं।

ऊपर लदए गए लितन ेि्थन सही हैं/हैं?
(a) केवल 1    
(b)  केवल 2
(c) उपयु्डक्त सभी   
(d)  उपयु्डक्त में से कोई ्हीं

9.  संपूण्क-जीनोम अनकु्रमण (WGS) िे संबंध में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  WGS िोगियों में टीबी के उपभेदों की उतपगत् औि दवा 
प्रगतिोध (DR) प्रोफाइल की तेजी से पहचा् कि्े की 
अ्ुमगत देता ह।ै

2.  जीव का जी्ोगमक डेटा तपेगदक ग्ििा्ी औि प्रगतिोध 
का पता लिा्े में मदद कि सकता ह।ै

ऊपि गदए िए कथ्ों में से कौ् सा/से सही ह/ैहैं?
(a) केवल 1
(b) केवल 2
(c) 1 औि 2 दो्ों
(d)  ् तो 1 औि ् ही 2



4Page No.
Address: Police Line Road, Daltonganj, Palamu, Jharkhand : 7909017633        :contact@ccsupsc.com        : ccsupsc.com

Q10. Consider the following statements, with 
reference to Regional Connectivity Scheme 
(RCS) – UDAN:

1. The scheme aims to improve infrastructure and 
connectivity in India, especially in remote and 
underserved regions.

2. It is a component of India’s National Civil 
Aviation Policy (NCAP), 2016.

3. UDAN 5.1 is designed specifically for helicopter 
routes by increasing the scope of operations for 
helicopter operators.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q11. Consider the following statements, with 
reference to Automated Permanent Academic 
Account Registry (APAAR):

1. APAAR is envisioned as a compulsory student 
ID for all students in India, starting from 
childhood.

2. It was launched as a part of National Education 
Policy, 2020 by the Ministry of Education.

Which of the above statements are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q12. Consider the following statements, with 
reference to the Indian peafowl:

1. It is regarded as the national bird which is under 
Schedule-I of the Wildlife Protection Act.

2. The IUCN status of the Indian peafowl is Least 
Concern.

3. The population of peafowls has increased exponentially 
across Tamil Nadu in the last 5 to 10 years.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q13. In regard to economic policies, the phrase 
Bidenomics appeared sometimes in the the news.

Which of the following statements best expresses its 
meaning?
(a) It is a collection of policies that focuses on tax 

cuts, deregulation, domestic spending cuts, and 
inflation control.  

 (b) It is a collection of policies that prioritize relief 
measures, infrastructure improvements, and 
expanding the safety net, with higher-income 
individuals and corporations paying more in taxes.

(c) It is a combination of policies that stresses trade 
protectionism, immigration restrictions, and 
global isolationism.   

(d) It is a collection of policies based on a global wealth 
tax that prioritizes environmental sustainability, 
social fairness, and human rights.

Q14. Consider the following statements, with 
reference to Hanle Dark Sky Reserve (HDSR):

1. HDSR aims to control man-made light pollution 
in the area in order to preserve the pristine dark 
skies for astronomical research.

2. It is an Indian astronomical observatory that is 
located in the South Pole of Antarctica.

3. The Bortle scale is a 9 level numeric scale that 
measures the brightness of a telescope.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q15. Consider the following statements, with 
reference to Atlantic Meridional Overturning 
Current (AMOC):

1. It is a global conveyor belt that circulates water 
within the Atlantic Ocean by bringing warm 
water north and cold water south.

2. AMOC circulation brings warmth to various 
parts of the globe and also carries nutrients 
necessary to sustain ocean life.

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q16. With reference to the East Coast Economic 
Corridor (ECEC), consider the following 
statements:

1. The Eastern Coast Economic Corridor (ECE(c) 
is India’s first coastal economic corridor.

2. It runs from Kolkata (West Bengal) to 
Kanyakumari (Tamil Nadu) in the north to the 
south.

3. The New Development Bank granted a loan to 
cover the corridor’s construction.

How many of the statements given above are correct?
(a) Only one   
(b) Only two
(c) All three   
(d) None

Q17. Consider the following statements regarding 
Ethics Committee of Parliament:

1. It is a joint committee of both Houses of 
Parliament.

2. Ethics Committee of Parliament has 15 members 
each from Lok Sabha and Rajya Sabha.

3. Besides overseeing the moral and ethical conduct 
of members, ethics committee also prepares a 
Code of Conduct for members.

How many of the above statements is/are correct?
(a) None    
(b) 1 only
(c) 2 only   
(d) All 3
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10.  क्ते्ीर िनले्टलवटी रोजना (RCS) उडान िे संदभ्क में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  इस योज्ा का लक्य भाित में बुग्यादी ढांचे औि 
क्ेग्टगवटी में सुधाि कि्ा ह,ै खासकि दनूिदिाज औि 
कम सेवा वाले के्षत्रों में।

2.  यह भाित की िाष्ट्रीय ्ािरिक उड्डय् ्ीगत (NCAP), 
2016 का एक घटक ह।ै

3.  उडा् 5.1 को हेलीकॉपटि ऑपिेटिों के संचाल् के दायिे 
को बढाकि गवशेष रूप से हेलीकॉपटि मािगों के गलए 
गडजाइ् गकया िया ह।ै

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल 1    
(b)  केवल 2
(c) उपयु्डक्त सभी   
(d)  उपयु्डक्त में से कोई ्हीं

11.  सवचाललित स्थारी िकै्लणि िाता रलजसट्ी (APAAR) िे 
संदभ्क में लनमनललिलित ि्थनों पर लवचार िरें :

1.  APR की क्फप्ा बचप् से ही भाित में सभी छात्रों के गलए 
एक अग्वाय्ड छात्र ID के रूप में की िई ह।ै

2.  इसे गशक्षा मंत्रालय द्ािा िाष्ट्रीय गशक्षा ्ीगत, 2020 के एक 
भाि के रूप में लॉनच गकया िया था।

उपरोक्त में स ेिौन सा ि्थन सही ह?ै
(a) केवल 1    
(b)  केवल 2
(c) 1 औि 2 दो्ों   
(d)  ् तो 1 औि ् ही 2

12.  भारतीर मोर िे संदभ्क में लनमनललिलित ि्थनों पर लवचार 
िरें :

1.  इसे िाष्ट्रीय पक्षी मा्ा जाता ह ै जो वनयजीव संिक्षण 
अगधग्यम की अ्ुसनूची-I के अंति्डत ह।ै

2.  भाितीय मोि की IUCN गसथगत नयन्ू तम गचंता वाली ह।ै
3.  गपछले 5 से 10 वषगों में पनूिे तगमल्ाडु में मोिों की आबादी 

तेजी से बढी ह।ै
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल 1    (b) केवल 2
(c) उपयु्डक्त सभी   (d) उपयु्डक्त में से कोई ्हीं

13.  आल्थ्कि नीलतरों िे संबंध में, लबडनेोलम्स वा्रांि 
िभी-िभी समाचारों में लदिाई दतेा ह।ै लनमनललिलित 
में स ेिौन सा ि्थन अपना अ्थ्क सववोत्तम रूप स ेवरक्त 
िरता ह?ै

(a) यह ्ीगतयों का एक संग्रह ह ैजो कि कटौती, गवग्यम्, 
घिेलनू खच्ड में कटौती औि मुद्ासफीगत ग्यंत्रण पि कें गद्त 
ह।ै

(b) यह ्ीगतयों का एक संग्रह ह ै जो िाहत उपायों, बुग्यादी 
ढांचे में सुधाि औि सुिक्षा जाल के गवसताि को प्राथगमकता 
देता ह,ै उचच आय वाले वयगक्तयों औि ग्िमों को किों में 
अगधक भुिता् कि्ा पडता ह।ै

(c) यह ्ीगतयों का एक संयोज् ह ैजो वयापाि संिक्षणवाद, 
आव्रज् प्रगतबंध औि वगैविक अलिाववाद पि जोि देता ह।ै

(d)  यह वगैविक संपगत् कि पि आधारित ्ीगतयों का एक संग्रह 
ह ै जो पया्डविणीय गसथिता, सामागजक ग्ष्पक्षता औि 
मा्वागधकािों को प्राथगमकता देता ह।ै

14.  हनेलि ेडाि्क  सिाई ररजव्क (HDSR) िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  HDSR का लक्य खिोलीय अ्ुसंधा् के गलए प्राची् 
अंधेिे आसमा् को संिगक्षत कि्े के गलए के्षत्र में मा्व 
ग्गम्डत प्रकाश प्रदनूषण को ग्यंगत्रत कि्ा ह।ै

2.  यह एक भाितीय खिोलीय वेधशाला ह ैजो अंटाक्ड गटका के 
दगक्षणी धु्व में गसथत ह।ै

3.  बोट्डल सकेल एक 9 सति का संखयातमक पमैा्ा ह ै जो 
दनूिबी् की चमक को मापता ह।ै

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल 1    
(b)  केवल 2
(c) उपयु्डक्त सभी   
(d)  उपयु्डक्त में से कोई ्हीं

15.  अटलिांलटि मरेरलडरनलि ओवरटलनिंग िरंट (AMOC) िे 
संदभ्क में लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह एक वगैविक कनवेयि बे्फट ह ैजो उत्ि में िम्ड पा्ी औि 
दगक्षण में ठंडा पा्ी लाकि अटलांगटक महासािि के भीति 
पा्ी का संचाि किती ह।ै

2.  AMOC परिसंचिण दुग्या के गवगभन् गहससों में िमगी लाता 
ह ैऔि समुद्ी जीव् को ब्ाए िख्े के गलए आवशयक 
पोषक ततव भी पहंुचाता ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    
(b)  केवल 2
(c) 1 औि 2 दो्ों   
(d)  ् तो 1 औि ् ही 2

16.  ईसट िोसट इिोनॉलमि िॉररडोर (ECEC) िे संदभ्क में, 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  पनूवगी तट आगथ्डक िगलयािा (ECEC) भाित का पहला तटीय 
आगथ्डक िगलयािा ह।ै

2.  यह उत्ि से दगक्षण में कोलकाता (पगचिम बंिाल) से 
कनयाकुमािी (तगमल्ाडु) तक चलती ह।ै

3.  नयनू डेवलपमेंट बैंक ्े िगलयािे के ग्मा्डण को कवि कि्े 
के गलए ऋण गदया।

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल 1
(b) केवल 2
(c) उपयु्डक्त सभी
(d) उपयु्डक्त में से कोई ्हीं

17.  संसद िी आचार सलमलत िे संबंध में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह संसद के दो्ों सद्ों की एक संयुक्त सगमगत ह।ै
2.  संसद की आचाि सगमगत में लोकसभा औि िाजयसभा से 

15-15 सदसय होते हैं।
3.  आचाि सगमगत सदसयों के ्गैतक आचिण की देखिेख के 

अलावा सदसयों के गलए एक आचाि संगहता भी तयैाि किती ह।ै
उपरोक्त में स ेलितन ेि्थन सही हैं/हैं?
(a) उपयु्डक्त में से कोई ्हीं
(b) केवल 1
(c) केवल 2
(d) उपयु्डक्त सभी 
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Q18. Consider the following statements regarding 
National Green Hydrogen Mission:

1. It is a scheme jointly developed and implemented 
by the union ministry of Science and Technology 
and Ministry of Power.

2. It aims to manufacture 50 million tonnes of 
green hydrogen by 2030.

3. Green hydrogen is hydrogen produced without 
resulting in polluting/ fossil fuel emissions.

How many of the above statements is/are correct?
(a) None   
(b)  1 only
(c) 2 only    
(d)  All 3

Q19. Consider the following statements regarding 
India’s tax base as per the latest report of Central 
Board of Direct Taxes (CBDT) :

1. India’s tax base has widened sharply since 2013-
14, with individuals moving up the income 
ladder and the proportion of 2. s u p e r - r i c h 
taxpayers’ incomes declining.

3. The overall number of income tax (I-T) returns 
filed by individuals has risen from 30.6 crore to 
60.3 crore through assessment years FY2014 to 
FY2022.

Which of the above statements is/are correct?
(a) 1 only    
(b)  2 only
(c) Both correct   
(d) Neither correct

Q20. Consider the following statements regarding 
‘Arctic Council’

1. The Council is an intergovernmental body of 
eight circumpolar countries.

2. It has no permanent secretariate.
3. India has an observer status in the Council.

Which of the above-mentioned statements are 
correct?
(a) 2 only    
(b) 1 and 3 only
(c) 1 and 2 only   
(d) All of the above

Q21. Consider the following statements, with 
reference to the ‘Loss and Damage’ Fund:

1. It is a financing mechanism to compensate the 
most vulnerable countries from climate-linked 
disasters.

2. It was established in the CoP-27 conference held 
in Sharm el-Sheikh, Egypt.

3. The fund is managed by the World Bank.
How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q22. Consider the following statements, with 
reference to the Dust Suppressants:

1. Dust suppressants are salts of calcium or 
magnesium that can absorb moisture.

2. The use of dust suppressant along with water is 
relatively more effective in control of pollution 
than conventional methods of dust control.

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q23. Consider the following statements regarding 
Subscriber Identification Module (SIM) card:

1. SIM card is an integrated circuit or a microchip 
that identifies the subscriber on a given network.

2. eSIMs are environment friendly and can be 
programmed by subscribers themselves.

3. These are built in accordance with International 
Electrotechnical Commission specifications.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q24. nsider the following statements, with reference 
to the ‘Gaganyaan mission’:

1. The Gaganyaan mission will use the 
Geosynchronous Satellite Launch Vehicle Mk 
III (GSLV Mk III), also known as the Launch 
Vehicle Mark-III (LVM-3).

2. The Gaganyaan Mission’s Orbital Module 
(OM), which will orbit the Earth, will include 
the Crew Module (CM) and Service Module 
(SM).

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q25. With reference to Internationalizing higher 
education, which of the following statements are 
correct?

1. It refers to the process of making higher education 
more globally connected and inclusive.

2. It refers to prioritizing profit over the quality of 
education, with a focus on attracting international 
students.

3. Internationalization of education is one of the 
goals of NEP 2020.

4. It aims to offer opportunities for students to 
study, work, or engage in research in other 
countries, promoting cultural exchange and 
global awareness..

Select the correct code given below:
(a) 1 and 2 only   (b) 1, 2 and 3 only
(c) 2 and 4 only   (d) 1, 3 and 4 only
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18.  राष्ट्ीर हररत हाइड्ोजन लमिन िे संबंध में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह कें द्ीय गवज्ा् औि प्रौद्ोगिकी मंत्रालय औि गवद्तु 
मंत्रालय द्ािा संयुक्त रूप से गवकगसत औि काया्डगनवत की 
िई एक योज्ा ह।ै

2.  इसका लक्य 2030 तक 50 गमगलय् ट् हरित हाइड्ोज् 
का ग्मा्डण कि्ा ह।ै

3.  हरित हाइड्ोज् प्रदनूषण/जीवाशम ईधं् उतसज्ड् के गब्ा 
उतपागदत हाइड्ोज् ह।ै

उपरोक्त में स ेलितन ेि्थन सही हैं/हैं?
(a) उपयु्डक्त में से कोई ्हीं
(b)  केवल 1
(c) केवल 2
(d)  उपयु्डक्त सभी

19.  िें द्ीर प्रतरक् िर बोड्क (CBDT) िी नवीनतम ररपोट्क िे 
अनसुार भारत िे िर आधार िे संबंध में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  2013-14 के बाद से भाित का कि आधाि तेजी से बढा ह,ै 
गजसमें वयगक्त आय की सीढी पि आिे बढ िहे हैं औि अगत-
अमीि किदाताओ ंकी आय का अ्ुपात घट िहा ह।ै

2.  मनू्फयांक् वष्ड FY2014 से FY2022 के दौिा् वयगक्तयों 
द्ािा दागखल गकए िए आयकि (I-T) रिट ््ड की कुल 
संखया 30.6 किोड से बढकि 60.3 किोड हो िई ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1
(b)  केवल 2
(c) दो्ों सही हैं
(d)  कोई भी सही ्हीं है

20.  ‘आि्क लटि पररषद’ िे संबंध में लनमनललिलित ि्थनों पर 
लवचार िरें

1.  परिषद आठ सककं पोलि देशों का एक अंतिसिकािी ग्काय ह।ै
2.  इसका कोई सथायी सगचवालय ्हीं ह।ै
3.  भाित को परिषद में पय्डवेक्षक का दजा्ड प्राप्त ह।ै
उपरु्कक्त ि्थनों में स ेिौन सा सही ह?ै
(a) केवल 2
(b)  केवल 1 औि 3
(c) केवल 1 औि 2
(d)  उपिोक्त सभी

21.  ‘हालन और क्लत’(Loss and Damage) िोष िे संदभ्क में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह जलवायु से जुडी आपदाओ ंसे सबसे कमजोि देशों को 
मुआवजा दे्े के गलए एक गवत्पोषण तंत्र ह।ै

2.  इसकी सथाप्ा गमस्र के शम्ड अल-शेख में आयोगजत CoP-
27 सममेल् में की िई थी।

3.  इस फंड का प्रबंध् गववि बैंक द्ािा गकया जाता ह।ै
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   
(b)  केवल दो
(c) उपयु्डक्त सभी   
(d)  कोई ्हीं

22.  धूलि अवरोधिों िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  धनूल दम्कािी कैग्फशयम या मगै्ीगशयम के लवण होते हैं 
जो ्मी को अवशोगषत कि सकते हैं।

2.  धनूल ग्यंत्रण के पािंपरिक तिीकों की तुल्ा में पा्ी 
के साथ धनूल दम्कािी का उपयोि प्रदनूषण ग्यंत्रण में 
अपेक्षाकृत अगधक प्रभावी ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

23.  स्सक्राइबर आइडेंलटलििेिन मॉड्रूलि (लसम) िाड्क िे 
संबंध में लनमनललिलित ि्थनों पर लवचार िरें :

1.  गसम काड्ड  एक एकीकृत सगक्ड ट या माइक्रोगचप ह ैजो गकसी 
गदए िए ्ेटवक्ड  पि ग्राहक की पहचा् किता ह।ै

2.  eSIM पया्डविण के अ्ुकनू ल हैं औि इनहें ग्राहक सवयं प्रोग्राम 
कि सकते हैं।

3.  इनहें अंतिा्डष्ट्रीय इले्ट्रोटेग््कल कमीश् गवग्ददेशों के 
अ्ुसाि ब्ाया िया ह।ै

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल 1    (b) केवल 2 
(c) उपयु्डक्त सभी   (d) कोई ्हीं

24.  ‘गगनरान लमिन’ िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  िि्या् गमश् में गजयोगसंक्रो्स सटेैलाइट लॉनच 
वहीकल एमके III (GSLV MK III) का उपयोि गकया 
जाएिा, गजसे लॉनच वहीकल माक्ड -III (LVM-3) के रूप में 
भी जा्ा जाता ह।ै

2.  िि्या् गमश् का ऑगब्डटल मॉड्यनूल (OM), जो पथृवी 
की परिक्रमा किेिा, उसमें क्रनू  मॉड्यनूल (CM) औि सगव्डस 
मॉड्यनूल (SM) शागमल होंिे।

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

25.  उचच लिक्ा िे अंतरा्कष्ट्ीरिरण िे संदभ्क में, लनमनललिलित 
में स ेिौन स ेि्थन सही हैं?

1.  यह उचच गशक्षा को गववि सति पि अगधक जुडा औि समावेशी 
ब्ा्े की प्रगक्रया को संदगभ्डत किता ह।ै

2.  इसका तातपय्ड अंतििाष्ट्रीय छात्रों को आकगष्डत कि्े 
पि धया् दे्े के साथ गशक्षा की िुणवत्ा पि लाभ को 
प्राथगमकता दे्ा ह।ै

3.  गशक्षा का अंतिा्डष्ट्रीयकिण NEP 2020 के लक्यों में से एक 
ह।ै

4.  इसका उदे्शय छात्रों को अनय देशों में अधयय् कि्े, काम 
कि्े या अ्ुसंधा् में संलग् हो्े, सांसकृगतक आदा्-
प्रदा् औि वगैविक जािरूकता को बढावा दे्े के अवसि 
प्रदा् कि्ा ह।ै

्ीचे गदए िए सही कोड का चय् किें :
(a) केवल 1 औि 2   
(b)  केवल 1, 2 औि 3
(c) केवल 2 औि 4   
(d)  केवल 1, 3 औि 4
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Q26. Consider the following statements with respect 
to environmental, social, and governance (ESG) 
framework::

1.  ESG investment strategies guarantee higher 
financial returns compared to traditional 
investment approaches. 

2. ESG criteria are used by investors, stakeholders, 
and organizations to evaluate a company’s 
commitment to sustainable and responsible 
business practices.

3. ESG investing only applies to public equity 
investments, not other asset classes such as 
private equity, fixed income or real estate.

Which of the statements given above is/are correct?
(a) 1 and 2 only   (b) 2 only
(c) 2 and 3 only   (d) 1 only

Q27. Consider the following:
1. Fintech companies
2. Credit unions
3. Peer-to-peer lending platforms
4. Insurance companies

Which of the options provided above possesses the 
capability to deliver digital lending services?
(a) 1, 2 and 3 only   (b) 1 ,3 and 4 only
(c) 1 and 3 only   (d) 1 and 2 only

Q28. It is a traditional martial art that originated in the 
Vijayanagar Empire in the state of Karnataka.:It 
is characterized by the use of a knuckleduster to 
strike the opponent. .:

Which one of the following martial arts is described above?
(a) Kalaripayattu   (b) Silambam
(c) Vajra Mushti Kalaga  (d) Kuttu Varisai

Q29. Which one of the following characteristics is 
related to Mayer-Rokitansky-Kuster-Hauser 
(MRKH) syndrome?

(a) Underdevelopment or absence of the uterus  
(b)  Absence of menstruation for six months or more
(c) Overproduction of androgens by the adrenal glands 
(d) The presence of adhesions or scar tissue in the 

uterine cavity

Q30. Consider the following statements regarding 
carrying capacity of an environment:

1. It is the maximum population size of a biological 
species that can be sustained by that specific 
environment, given the food, habitat, water, and 
other resources available.

2. It is the environment’s maximal load, which in 
population ecology corresponds to the population 
equilibrium, when the number of deaths in a 
population equals the number of births (as well 
as immigration and emigration).

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q31. Consider the following statements regarding the 
provisions of the Dam Safety Act (DSA), 2021:

1. It seeks to set up a National Committee on Dam 
Safety (NCDS) to oversee dam safety policies 
and regulations.

2. It seeks to set up a National Dam Safety 
Authority for resolving State  level disputes.

3. The Chairman of the Central Water Commission 
(CWC) would head dam safety protocols at the 
national level.

4. A State Committee on Dam Safety (SCDS) and 
State Dam Safety Organisation (SDSO) would 
be set up.

How many of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) 3 only    (d) 1, 2, 3 and 4

Q32. Consider the following statements regarding 
United Nations Refugee Convention 1951:

1. It is a multilateral treaty that defines who is a 
refugee, and sets out their rights, as well as the 
responsibilities of nations that grant asylum.

2.  War criminals do not enjoy protection as refugees 
under this convention.

3. India is not a member of either the 1951 
convention or its 1967 protocol.

How many of the above statements is/are correct?
(a) None correct   (b) 1 only
(c) 2 only    (d) All 3

Q33. Regarding Preventive detention laws, consider 
the following statements:

1. Preventive detention means detention as a 
punishment for a criminal offence.

2. Article 20 of the Indian constitution grants 
protection to persons who are arrested or 
detained.

3. The detention of a person cannot exceed three 
months under any situation.

How many of the statements give above is/are correct?
(a) None    (b) Only one
(c) Only two   (d) All three

Q34. Consider the following statements, with 
reference to Pradhan Mantri Anusuchit Jaati 
Abhuyday Yojana:

1. It is a merged scheme of 3 Centrally Sponsored 
Scheme that aims to reduce poverty of the 
Schedule Caste (S(c) communities.

2. Adarsh Gram is one of the components of the 
yojana.

3. The scheme functions under aegis of the Ministry 
of Social Justice and Empowerment.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None
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26.  परा्कवरण, सामालजि और िासन (ESG) ढांच ेिे संबंध 
में लनमनललिलित ि्थनों पर लवचार िरें ::

1.  ESG ग्वेश िण्ीगतयाँ पािंपरिक ग्वेश दृगटिकोण की 
तुल्ा में उचच गवत्ीय रिट ््ड की िािंटी देती हैं।

2.  ESG मा्दंड का उपयोि ग्वेशकों, गहतधािकों औि 
संिठ्ों द्ािा गटकाऊ औि गजममेदाि वयावसागयक प्रथाओ ं
के प्रगत कंप्ी की प्रगतबद्धता का मनू्फयांक् कि्े के गलए 
गकया जाता ह।ै

3.  ESG ग्वेश केवल साव्डजग्क इग्वटी ग्वेश पि लािनू 
होता ह,ै ग्जी इग्वटी, ग्गचित आय या रियल एसटेट जसेै 
अनय परिसंपगत् विगों पि ्हीं।

ऊपि गदए िए कथ्ों में से कौ् सा/से सही ह/ैहैं?
(a) केवल 1 औि 2  (b) केवल 2
(c) केवल 2 औि 3   (d) केवल 1

27.  लनमन पर लवचार िरें :
1.  गफ्टेक कंपग्याँ
2.  के्रगडट यनूग्य्
3.  पीयि-टनू -पीयि ऋण दे्े वाले पलेटफाम्ड
4.  बीमा कंपग्याँ
ऊपि गदए िए गवक्फपों में से कौ् सा गवक्फप गडगजटल ऋण 

सेवाएं प्रदा् कि्े की क्षमता िखता ह?ै
(a) केवल 1, 2 औि 3  (b) केवल 1, 3 औि 4
(c) केवल 1 औि 3   (d) केवल 1 औि 2

28.  रह एि पारंपररि माि्कलि आट्क ह ैलजसिी उतपलत्त िना्कटि 
राजर िे लवजरनगर साम्ाजर में हुई ्थी। प्रलतद्दं्ी पर 
प्रहार िरन े िे ललिए न्िलिडसटर िा उपरोग इसिी 
लविषेता ह।ै लनमनललिलित में स े लिस माि्कलि आट्क िा 
वण्कन ऊपर लिरा गरा ह?ै

(a) कलािीपयटु्  (b) गसलंबम
(c) वज्र मुटिी कलिा           (d) कुट्टू  वरिसाई

29.  लनमनललिलित में स ेिौन सी लविषेता मरेर-रोलिटांसिी-
िुसटर-हॉसर (MRKH) लसंड्ोम स ेसंबंलधत ह?ै

(a) िभा्डशय का अगवकगसत हो्ा या अ्ुपगसथगत 
(b) छह मही्े या उससे अगधक समय तक मागसक धम्ड की 

अ्ुपगसथगत
(c) अगधवृ् क गं्रगथयों द्ािा एण्ड्ोज् का अतयगधक उतपाद्
(d) िभा्डशय िुहा में आसंज् या ग्शा् ऊतक की उपगसथगत

30.  लिसी परा्कवरण िी वहन क्मता िे संबंध में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह गकसी जगैवक प्रजागत की अगधकतम ज्संखया आकाि 
ह ैगजसे भोज्, आवास, पा्ी औि उपल्ध अनय संसाध्ों 
को देखते हुए उस गवगशटि वाताविण द्ािा ब्ाए िखा जा 
सकता ह।ै

2.  यह पया्डविण का अगधकतम भाि ह,ै जो ज्संखया 
पारिगसथगतकी में ज्संखया संतुल् से मेल खाता ह,ै जब 
गकसी ज्संखया में मौतों की संखया जनमों की संखया 
(साथ ही आव्रज् औि उतप्रवास) के बिाबि होती ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1       
(b)  केवल 2
(c) 1 औि 2 दो्ों   
(d)  ् तो 1 औि ् ही 2

31.  बांध सरुक्ा अलधलनरम (DSA), 2021 िे प्रावधानों िे 
संबंध में लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह बांध सुिक्षा ्ीगतयों औि गवग्यमों की ग्ििा्ी के 
गलए बांध सुिक्षा पि एक िाष्ट्रीय सगमगत (NCDS) सथागपत 
कि्े का प्रयास किता ह।ै

2.  यह िाजय सति के गववादों को सुलझा्े के गलए एक िाष्ट्रीय 
बांध सुिक्षा प्रागधकिण की सथाप्ा कि्ा चाहता ह।ै 

3.  कें द्ीय जल आयोि (CWC) के अधयक्ष िाष्ट्रीय सति पि 
बांध सुिक्षा प्रोटोकॉल का ्ेततृव किें िे।

4.  बांध सुिक्षा पि एक िाजय सगमगत (SCDS) औि िाजय बांध 
सुिक्षा संिठ् (SDSO) की सथाप्ा की जाएिी।

उपरोक्त में स ेलितन ेि्थन सही हैं/हैं?
(a) केवल 1    (b) केवल 2
(c) केवल 3    (d) 1, 2, 3 औि 4

32.  संरकु्त राष्ट् िरणा्थथी िनवेंिन 1951 िे संबंध में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह एक बहुपक्षीय संगध ह ै जो परिभागषत किती ह ै गक 
शिणाथगी कौ् ह,ै औि उ्के अगधकािों के साथ-साथ शिण 
दे्े वाले देशों की गजममेदारियां भी ग्धा्डरित किती ह।ै

2.  इस सममेल् के तहत युद्ध अपिागधयों को शिणाथगी के रूप 
में सुिक्षा का लाभ ्हीं गमलता ह।ै

3.  भाित 1951 के सममेल् या इसके 1967 के प्रोटोकॉल का 
सदसय ्हीं ह।ै

उपरोक्त में स ेलितन ेि्थन सही हैं/हैं?
(a) कोई भी सही ्हीं   (b) केवल 1
(c) केवल 2    (d) उपयु्डक्त सभी 

33.  लनवारि लनरोध िानूनों िे संबंध में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  ग्वािक ग्िोध का अथ्ड गकसी आपिागधक अपिाध के गलए 
सजा के रूप में गहिासत में िख्ा ह।ै

2.  भाितीय संगवधा् का अ्ुचछेद 20 गििफताि या गहिासत में 
गलए िए वयगक्तयों को सुिक्षा प्रदा् किता ह।ै

3.  गकसी भी गसथगत में गकसी वयगक्त की गहिासत ती् मही्े 
से अगधक ्हीं हो सकती।

ऊपि गदए िए कथ्ों में से गकत्े सही हैं/हैं?
(a) उपयु्डक्त में से कोई ्हीं  
(b)  केवल 1
(c) केवल 2    
(d)  उपयु्डक्त सभी 

34.  प्रधानमंत्ी अनसूुलचत जालत अभरदुर रोजना िे संदभ्क में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह 3 कें द् प्रायोगजत योज्ाओ ंकी एक गवलय योज्ा ह ै
गजसका उदे्शय अ्ुसनूगचत जागत समुदायों की ििीबी को 
कम कि्ा ह।ै

2.  आदश्ड ग्राम योज्ा के घटकों में से एक ह।ै
3.  यह योज्ा सामागजक नयाय औि अगधकारिता मंत्रालय के 

ततवावधा् में काय्ड किती ह।ै
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल 1    
(b)  केवल 2
(c) उपयु्डक्त ती्ों   
(d)  उपयु्डक्त में से कोई ्हीं
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Q35. Consider the following statements, with 
reference to the Visa Shopping:

1. It is the practice of applying for a visa in a country 
where it is faster or easier to get as compared to 
the original destination.

2. Schengen Visa is a type of visa shopping that 
facilitates free movement for travellers between 
India and Nepal.

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q36. With reference to the Multilateral Development 
Banks (MDBs), consider the following 
statements:

1. They are international organizations made up of 
both developed and developing nations.

2. Developed countries make contributions to 
MDB lending, while developing countries 
borrow from them for development initiatives.

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q37. Consider the following statements regarding 
Best Tourism Village:

1. Dhordo village of Rajasthan has been conferred 
the prestigious title of Best Tourism Village 
2023.

2. The award is given by the United Nations World 
Tourism Organisation (UNWTO).

Which of the above statements is/are correct?
(a) 1 only    
(b) 2 only
(c) Both 1 and 2   
(d) Neither 1 nor 2

Q38.  The term “Global South” has often been seen in 
the news.

In this context, which of the following statements are 
correct?
1. The Global South is disproportionately affected 

by climate change, despite contributing less to 
the problem.

2. India’s G20 presidency in 2023 has provided 
it with a unique opportunity to champion the 
Global South.

3. The Global South is a homogeneous region with 
similar cultures and traditions.

4. The Global South is a region of the world that is 
often overlooked by the developed countries..

Which of the statements given above are correct? :
(a) 1, 2 and 3 only  (b) 1 and 3 only
(c) 1, 2 and 4 only   (d) 2, 3 and 4 only

Q39. With reference to Edakkal Caves, consider the 
following statements:

1. These caves are a series of natural caves that were 
formed by volcanic activity.

2. These caves were used by ancient humans as a 
burial ground.

3. These caves are home to a number of ancient 
Buddhist temples.

How many of the above statements are correct?:
(a) Only one   (b) Only two
(c) All three   (d) None

Q40. With reference to Corals, which of the following 
statements are correct?

1. Corals are primarily vagile organisms, meaning they 
are capable of swimming freely throughout the ocean.

2. Corals have stinging tentacles that contain 
nematocysts used for prey capture.

3. Coral reefs are often associated with tropical and 
shallow waters.

Select the correct answer using the codes given below: :.
(a) 1 and 3 only   (b) 2 only
(c) 2 and 3 only   (d) 3 only

Q41. Consider the following statements:
1. Kasturi Cotton Bharat aims to boost the global 

competitiveness of Indian cotton by taking 
charge of branding, traceability, and certification, 
with a focus on sustainability and benefiting all 
involved stakeholders.

2. India has the largest area under cotton cultivation 
in the world.

3. India is the only country in the world that grows 
all four species of cultivated cotton.

4. The quality of Indian cotton is inferior to that of 
cotton produced in other nations.

How many of the statements given above are correct?.
(a) Only one   (b) Only two
(c) Only three   (d) All four

Q42. The Indian government has launched Project 
UDBHAV to revive and integrate India’s 
ancient military wisdom with contemporary 
military practices. In this context, which of the 
following aspects of Chanakya’s military strategy 
as outlined in the “Arthashastra” could serve as a 
source of inspiration for Project UDBHAV?:

1. It discouraged the use of spies and intelligence 
gathering, considering it unethical.

2. It recognized the significance of alliances and 
diplomacy in strengthening a kingdom’s position.

3. It emphasized using brute force and overwhelming 
numbers as the primary strategy in warfare.

Select the correct code given below::.
(a) 1 and 2 only    (b) 2 only
(c) 2 and 3 only    (d) 3 only
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35.  वीजा िॉलपंग िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  यह ऐसे देश में वीजा के गलए आवेद् कि्े की प्रथा ह ैजहां 
मनूल िंतवय की तुल्ा में इसे प्राप्त कि्ा तेज या आसा् ह।ै

2.  शेंिे् वीजा एक प्रकाि का वीजा शॉगपंि ह ैजो भाित औि 
्ेपाल के बीच यागत्रयों के गलए मुफत आवाजाही की सुगवधा 
प्रदा् किता ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    
(b)  केवल 2
(c) 1 औि 2 दो्ों  
(d)  ् तो 1 औि ् ही 2

36.  बहुपक्ीर लविास बैंिों (MDB) िे संदभ्क में, लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  वे अंतििाष्ट्रीय संिठ् हैं जो गवकगसत औि गवकासशील 
दो्ों देशों से ब्े हैं।

2.  गवकगसत देश MBD ऋण दे्े में योिदा् देते हैं, जबगक 
गवकासशील देश गवकास पहल के गलए उ्से उधाि लेते हैं।

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    
(b) केवल 2
(c) 1 औि 2 दो्ों   
(d) ् तो 1 औि ् ही 2

37.  सव्कश्षे्ठ पर्कटन गांव िे संबंध में लनमनललिलित ि्थनों 
पर लवचार िरें :

1.  िाजसथा् के धोिडो िांव को सव्डशे्ष्ठ पय्डट् िांव 2023 
का प्रगतगष्ठत गखताब गदया िया ह।ै

2.  यह पुिसकाि संयुक्त िाष्ट्र गववि पय्डट् संिठ् (UNWTO) 
द्ािा गदया जाता ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1
(b) केवल 2
(c) 1 औि 2 दो्ों
(d) ् तो 1 औि ् ही 2

38.  “गलिोबलि साउ्थ" ि्द अ्सर समाचारों में दिेा गरा ह।ै 
इस संदभ्क में लनमनललिलित में स ेिौन सा ि्थन सही ह?ै

1.  समसया में कम योिदा् दे्े के बावजनूद, गलोबल साउथ 
जलवायु परिवत्ड् से असमा् रूप से प्रभागवत ह।ै

2.  2023 में भाित की G20 की अधयक्षता ्े इसे गलोबल साउथ 
को चैंगपय् ब्ा्े का एक अ्नूठा अवसि प्रदा् गकया ह।ै

3.  गलोबल साउथ समा् संसकृगतयों औि पिंपिाओ ंवाला एक 
सजातीय के्षत्र ह।ै

4.  गलोबल साउथ दुग्या का एक ऐसा के्षत्र ह ै गजसे अ्सि 
गवकगसत देशों द्ािा अ्देखा गकया जाता ह।ै

ऊपर लदए गए ि्थनों में स ेिौन सा सही ह?ै :
(a) केवल 1, 2 औि 3   
(b)  केवल 1 औि 3
(c) केवल 1, 2 औि 4   
(d)  केवल 2, 3 औि 4

39.  एड्िलि गिुाओ ंिे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  ये िुफाएँ प्राकृगतक िुफाओ ं की एक श्ृंखला हैं गज्का 
ग्मा्डण जवालामुखी िगतगवगध से हुआ था।

2.  इ् िुफाओ ंका उपयोि प्राची् मा्वों द्ािा कब्रिाह के 
रूप में गकया जाता था।

3.  ये िुफाएँ कई प्राची् बौद्ध मंगदिों का घि हैं।
उपरोक्त में स ेलितन ेि्थन सही हैं?:
(a) केवल 1    (b) केवल 2
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त में से कोई ्हीं

40.  िोरलि िे संदभ्क में, लनमनललिलित में स ेिौन स ेि्थन 
सही हैं?

1.  मनूंिे मुखय रूप से चंचल जीव हैं, गजसका अथ्ड ह ैगक वे पनूिे 
समुद् में सवतंत्र रूप से तिै्े में सक्षम हैं।

2.  मनूंिों में चुभ्े वाले सपश्डक होते हैं गज्में गशकाि को 
पकड्े के गलए उपयोि गकए जा्े वाले ्ेमाटोगससट होते 
हैं।

3.  मनूंिा चट्ा े्ं अ्सि उष्णकगटबंधीय औि उथले पा्ी से जुडी 
होती हैं।

नीच ेलदए गए िोड िा उपरोग िरिे सही उत्तर चनुें: 
(a) केवल 1 औि 3   (b) केवल 2
(c) केवल 2 औि 3   (d) केवल 3

41.  लनमनललिलित ि्थनों पर लवचार िरें :
1.  कसतनूिी कॉट् भाित का लक्य गसथिता पि धया् दे्े औि 

सभी शागमल गहतधािकों को लाभ पहंुचा्े के साथ ब्रांगडंि, 
टे्रसेगबगलटी औि प्रमाण् का प्रभाि लेकि भाितीय कपास 
की वगैविक प्रगतसपधा्डतमकता को बढावा दे्ा ह।ै

2.  भाित में गववि में कपास की खेती का सबसे बडा के्षत्र ह।ै
3.  भाित दुग्या का एकमात्र देश ह ैजो कपास की सभी चाि 

प्रजागतयों की खेती किता ह।ै
4.  भाितीय कपास की िुणवत्ा अनय देशों में उतपागदत कपास 

की िुणवत्ा से कमति ह।ै
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल 1    (b) केवल 2
(c) केवल 3    (d) उपयु्डक्त सभी 

42.  भारत सरिार न े भारत िे प्राचीन सनैर ज्ान िो 
समिालिीन सनैर प्र्थाओ ंिे सा्थ पनुजथीलवत और एिीिृत 
िरन ेिे ललिए प्रोजे् ट UDBHAV लिॉनच लिरा ह।ै इस संदभ्क 
में, “अ्थ्किास्त्र" में उल्लिलित चाण्र िी सनैर रणनीलत 
िा लनमनललिलित में स ेिौन सा पहलि ूप्रोजे् ट UDBHAV 
िे ललिए प्ररेणा स्ोत िे रूप में िाम िर सिता ह?ै

1.  इस्े जासनूसों के उपयोि औि खुग़िया जा्कािी एकत्र 
कि्े को अ्गैतक मा्ते हुए हतोतसागहत गकया।

2.  इस्े गकसी िाजय की गसथगत को मजबनूत कि्े में िठबंध् 
औि कनू ट्ीगत के महतव को पहचा्ा।

3.  इसमें युद्ध में प्राथगमक िण्ीगत के रूप में क्रनू ि बल औि 
भािी संखया के उपयोि पि जोि गदया िया।

नीच ेलदए गए सही िोड िा चरन िरें :
(a) केवल 1 औि 2   (b) केवल 2
(c) केवल 2 औि 3   (d) केवल 3
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 Q43. Which of the following is the sole border crossing 
between the Gaza Strip and Egypt?

(a) Rafah crossing point 
(b) Allenby Terminal
(c) Rabin Border Crossing
(d)  Kerem Shalom Crossing

Q44. Consider the following statements:
1. The right to marry is not expressly recognised 

as a fundamental right under the Indian 
Constitution.

2. The same sex couple, weather married or unmarried 
in not allowed to adopt children in India.

Which of the statements given above is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q45. Consider the following statements
1. Millets are fundamentally grasses.
2. Millets are becoming more popular in India as 

well because of their low input requirements and 
high nutritional density

Which of the above statements are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q46. Consider the following statements in connection 
with the biasing of semiconductor diodes:

1. LEDs operate in a forward bias mode.
2. Photodiodes function in a forward bias mode.
3. Zener diodes are employed in a reverse bias mode.
4. Variable capacitance diodes are utilized in a 

reverse bias mode.
How many of the above statements are correct?
(a) Only one   (b) Only two
(c) All three   (d) All four

Q47. Consider the following statements:
1. Cervical cancer is a type of cancer that develops 

in the cervix, which is the lower part of the uterus 
that connects to the vagina.

2. Cervical cancer is a sexually transmitted disease 
(STD).

3. The northeastern regions of India have experienced 
a decreased survival rate for cervical cancer.

How many of the above statements are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q48. hich of the following statements are correct with 
respect to Microalgae?

1.  They are colorless.
2. They are single-celled organisms.
3.They are found only in water.
4.They are the primary producers in the food chain.
5.They play a role in carbon dioxide sequestration.

Select the correct answer from the codes given below:
(a) 1, 2, 3 and 5 only  (b) 2, 4 and 5 only
(c) 1, 3, and 4 only  (d) 1, 4 and 5 only

Q49. With reference to Sexual Harassment of 
Women at Workplace (Prevention, Prohibition 
and Redressal) Act (POSH Act), consider the 
following statements:

1. It is a gender-neutral legislation that primarily 
protects both men and women from sexual ha-
rassment at the workplace.

2. The POSH Act does not define sexual harass-
ment or provide safeguards against false or mali-
cious charges

3. The POSH Act mandates States to appoint a 
District Officer in every district.

How many of the above statements are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q50. The term “Little Ice Age (LIA)” was seen in 
the news sometimes. Which of the following 
statements are correct regarding the findings of 
the study related to Little Ice Age in India?:

1. LIA in the Western Ghats was characterized by 
moister conditions, possibly influenced by in-
creased northeast winter monsoon (NEM).

2. The southward shift of the ITCZ and increased 
northward energy flow across the equator during 
a cold northern hemisphere contributed to the 
weakest phase of the Indian Summer Monsoon 
(ISM) during the LIA.

Which of the statements given above is/are correct?
(a) 1 only   (b) 2 only
(c) Both 1 and 2  (d) Neither 1 nor 2

Q51.  Consider the following statements with reference 
to Hypertension::

1. India is the country with the highest number of 
people with hypertension in the world.

2. The prevalence of hypertension is higher in ur-
ban areas than in rural areas in India.

3. Northern States in India have a higher preva-
lence of hypertension than the national average.

4. United Nations Sustainable Development Goal 
3 (SDG 3) strives to achieve healthy lives and 
well-being for all, with one of its key targets be-
ing the reduction of hypertension.

How many of the above statements are correct?
(a) Only one  (b) Only two
(c) Only three  (d) All four

Q52. With reference to the naval exercise “MILAN” 
consider the following statements:

1. The exercise is focused on enhancing profession-
al interaction between professional armies and 
gaining experience in multilateral large force op-
erations on land.

2. The exercise was originally aligned with India’s 
‘Look East Policy’.

Select the correct statements using the codes given below:
(a) 1 only   (b) 2 only
(c) Both 1 and 2  (d) Neither 1 nor 2
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 43.  लनमनललिलित में स ेिौन सा गाजा पट्ी और लमस् िे बीच 
एिमात् सीमा पार ह?ै

(a) िाफा क्रॉगसंि पॉइंट
(b)  एले्बी टगम्ड्ल
(c) िागब् बॉड्डि क्रॉगसंि
(d)  केिेम शालोम क्रॉगसंि

44. लनमनललिलित ि्थनों पर लवचार िरें :
1.  भाितीय संगवधा् के तहत गववाह के अगधकाि को मौगलक 

अगधकाि के रूप में सपटि रूप से मानयता ्हीं दी िई ह।ै
2.  भाित में समलैंगिक जोडे, गववागहत या अगववागहत, को 

बचचे िोद ले्े की अ्ुमगत ्हीं ह।ै
ऊपर लदए गए ि्थनों में स ेिौन सा/स ेसही ह/ैहैं?
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

45.  लनमनललिलित ि्थनों पर लवचार िरें
1.  बाजिा मनूलतः घास ह।ै
2.  बाजिा अप्ी कम इ्पुट आवशयकताओ ंऔि उचच पोषण 

घ्तव के कािण भाित में भी अगधक लोकगप्रय हो िहा है
उपरोक्त में स ेिौन सा ि्थन सही ह?ै
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

46.  समेीिंड्टर डारोड िे बारलसंग िे संबंध में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  LED फॉिवड्ड  बायस मोड में काम किते हैं।
2.  फोटोडायोड फॉिवड्ड  बायस मोड में काय्ड किते हैं।
3.  जे्ि डायोड को रिवस्ड बायस मोड में ग्योगजत गकया 

जाता ह।ै
4.  परिवत्ड्ीय कैपेगसटेंस डायोड का उपयोि रिवस्ड बायस 

मोड में गकया जाता ह।ै
उपरोक्त में स ेलितन ेि्थन सही हैं?
(a) केवल एक   (b) केवल दो
(c) सभी ती्   (d) सभी चाि

47.  लनमनललिलित ि्थनों पर लवचार िरें :
1.  सवा्डइकल कैं सि एक प्रकाि का कैं सि ह ैजो िभा्डशय ग्रीवा 

में गवकगसत होता ह,ै जो िभा्डशय का ग्चला गहससा ह ैजो 
योग् से जुडता ह।ै

2.  सवा्डइकल कैं सि एक यौ् संचारित िोि (STD) ह।ै
3.  भाित के उत्िपनूवगी के्षत्रों में सवा्डइकल कैं सि से बच्े की दि 

में कमी देखी िई ह।ै
उपरोक्त में स ेलितन ेि्थन सही हैं?
(a) केवल एक   (b) केवल दो
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त में से कोई ्हीं

48.  सूक्म िवैालि िे संबंध में लनमनललिलित में स े िौन सा 
ि्थन सही ह?ै

1.  ये िंिही् होते हैं।
2.  ये एककोगशकीय जीव हैं।
3.  ये केवल पा्ी में ही पाए जाते हैं।
4.  वे खाद् श् ृंखला में प्राथगमक उतपादक हैं।
5.  वे काब्ड् डाइऑ्साइड पथृ्किण में भनूगमका ग्भाते हैं।
नीच ेलदए गए िोड स ेसही उत्तर चनुें:
(a) केवल 1, 2, 3 औि 5  (b) केवल 2, 4 औि 5
(c) केवल 1, 3, औि 4   (d) केवल 1, 4 औि 5

49.  िार्कस्थलि पर मलहलिाओ ं िे रौन उतपीडन (रोि्थाम, 
लनषधे और लनवारण) अलधलनरम (POSH अलधलनरम) िे 
संदभ्क में, लनमनललिलित ि्थनों पर लवचार िरें :

1. यह एक गलंि-तटसथ का्न्ू  ह ैजो मुखय रूप से काय्डसथल 
पि पुरुषों औि मगहलाओ ंदो्ों को यौ् उतपीड् से बचाता ह।ै

2.  POSH अगधग्यम यौ् उतपीड् को परिभागषत ् हीं किता 
ह ैया झनूठे या दुभा्डव्ापनूण्ड आिोपों के गखलाफ सुिक्षा प्रदा् 
्हीं किता है

3. POSH अगधग्यम िाजयों को प्रतयेक गजले में एक गजला 
अगधकािी ग्युक्त कि्े का आदेश देता ह।ै

उपरोक्त में स ेलितन ेि्थन सही हैं?
(a) केवल एक  (b) केवल दो
(c) सभी ती्  (d) कोई ्हीं

 50.  “ललिलटलि आइस एज (LIA)” ि्द िभी-िभी समाचारों में 
दिेा जाता ्था। भारत में लिघ ुलहमरगु स ेसंबंलधत अधररन 
िे लनष्िषषों िे संबंध में लनमनललिलित में स े िौन सा 
ि्थन सही ह ै?

1. पगचिमी घाट में LIA की गवशेषता ्मी की गसथगत थी, जो 
संभवतः बढे हुए पनूववोत्ि शीतकाली् मा्सन्ू  (NEM) से 
प्रभागवत थी।

2.  ITCZ के दगक्षण की ओि बदलाव औि ठंडे उत्िी िोलाध्ड के 
दौिा् भनूमधय िेखा के पाि उत्ि की ओि ऊजा्ड प्रवाह में वगृद्ध 
्े LIA के दौिा् भाितीय ग्रीष्मकाली् मा्सन्ू  (ISM) 
के सबसे कमजोि चिण में योिदा् गदया।

ऊपर लदए गए ि्थनों में स ेिौन सा/स ेसही ह/ैहैं?
(a) केवल 1   (b) केवल 2
(c) 1 औि 2 दो्ों  (d) ् तो 1औि ् तो 2

51.  उचच रक्तचाप िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  भाित दुग्या में उचच िक्तचाप से पीगडत लोिों की सबसे 
अगधक संखया वाला देश ह।ै

2.  भाित में ग्रामीण के्षत्रों की तुल्ा में शहिी के्षत्रों में उचच 
िक्तचाप का प्रचल् अगधक ह।ै

3.  भाित के उत्िी िाजयों में उचच िक्तचाप का प्रसाि िाष्ट्रीय 
औसत से अगधक ह।ै

4. संयुक्त िाष्ट्र सतत गवकास लक्य 3 (SDG 3) सभी के गलए 
सवसथ जीव् औि क्फयाण प्राप्त कि्े का प्रयास किता ह,ै 
गजसका एक प्रमुख लक्य उचच िक्तचाप में कमी ला्ा ह।ै

उपरोक्त में स ेलितन ेि्थन सही हैं?
(a) केवल एक  (b) गसफ्ड  दो
(c) केवल ती्  (d) सभी चाि

52.  नौसलैनि अभरास "MILAN” िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1. यह अभयास पेशेवि से्ाओ ं के बीच पेशेवि संपक्ड  बढा्े 
औि भनूगम पि बहुपक्षीय बडे बल संचाल् में अ्ुभव प्राप्त 
कि्े पि कें गद्त ह।ै

2.  यह अभयास मनूल रूप से भाित की ‘पनूव्ड की ओि देखो ्ीगत’ 
के अ्ुरूप था।

नीच ेलदए गए िोड िा उपरोग िरिे सही ि्थन चनुें:
(a) केवल 1   (b) केवल 2
(c) 1 औि 2 दो्ों  (d) ् तो 1 औि ् तो 2
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Q53. With reference to the Jagannath Temple, 
consider the following statements:

1.  It is constructed in the 12th century by King 
Anatavarman Chodaganga Deva of the Eastern 
Ganga Dynasty.

2.  It is called ‘Yamanika Tirtha’.
3. There are four gates to the temple.

How many of the statements given above is/are 
correct?
(a) None    (b) Only one
(c) Only two   (d) All three

Q54. Consider the following statements regarding 
Glacial Lake Outburst Flood (GLOF)

 1.  GLOF is a sudden release of water from a lake 
fed by glacier melt that has formed under the 
surface of a glacier.

2.  Glacial retreat due to climate change has given 
rise to the formation of numerous new glacial 
lakes, which are the major cause of GLOFs.

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both correct   (d) Neither correct

Q55. Consider the following statements regarding 
Visva-Bharati

1.  It was founded by Sri Aurobindo Ghosh in 
1921. 

2.  In 1951, the institution was given the status of a 
central university by an act of the Parliament.

3. It is located in Shantiniketan, West Bengal.
4. It is currently an Institute of National Importance, 

a status conferred on select universities by 
the University Grants Commission (UG(c) 
by notifications.

How many of the above statements is/are correct?
(a) 1 only   
(b) 2 only
(c) 3 only   
(d) All 4

Q56. Consider the following statements, with 
reference to NaMo Bharat:

1.  It is a multimodal semi-high-speed regional 
rapid transit system that ensures balanced and 
sustainable urban development.

2.  It connects the western India with eastern 
India from Jaipur in Gujarat to Kolkata in West 
Bengal.

3. National Capital Region Transport Corporation 
(NCRTC) which comes under the Ministry of 
Housing and Urban Affairs is the implementing 
agency for Namo Bharat.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q57. Consider the following statements, with 
reference to Settlement Guarantee Fund (SGF):

1.  A Settlement Guarantee Fund (SGF) is a corpus 
used for settlement of trades during defaults.

2.  All intermediaries such as stock exchanges, 
clearing corporations and brokers contribute 
towards SGF.

3. SGF is received only in the form of securities.
How many of the above statements given above are 
correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q58. Regarding I2U2 initiative, consider the following 
countries:

1.  Israel   2. Iraq
3. Iran   4. India

How many of the following countries is/are the part 
of I2U2 initiative?
(a) Only one   (b) Only two
(c) Only three   (d) All four

Q59. Consider the following statements, with 
reference to the Minimum Support Price (MSP):

1.  It will be fixed by the government on the basis 
of recommendations of the Commission for 
Agricultural Costs and Prices (CACP).

2.  The Rangarajan Commission recommended 
that the MSP should at least be 50% more than 
the weighted average.

3. In India, MSPs are applicable to 22 kharif, rabi 
and commercial crops including sugarcane.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q60. Consider the following statements, with refernce 
to the Golden Peacock Award:

1.  It is regarded as a benchmark award of Corporate 
Excellence worldwide that was instituted by the 
Institute of Directors, India in 1991. System.”

2.  The REC Limited, a Central Public Sector 
Enterprise received the award the Golden 
Peacock Award in Risk Management in 2023.

Which of the above statements is/are not correct?
(a) 1 only   (b) 2 only
(c) Both 1 and 2  (d) Neither 1 nor 2

Q61.  Consider the following statements regarding the 
Broadcasting Content Complaints Council:

1.  It operates as an independent self-regulatory body.
2.  Chairperson is typically a serving Judge from the 

Supreme Court or High Court.
3. The BCCC’s self-regulatory approach empowers 

the broadcasting industry to have a say in content 
regulation.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None
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53.  जगनना्थ मंलदर िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  इसका ग्मा्डण 12वीं शता्दी में पनूवगी िंिा िाजवंश के िाजा 
अ्ातवम्ड् चोडिंिा देव द्ािा गकया िया था।

2.  इसे ‘यामाग्का तीथ्ड’ कहा जाता ह।ै
3.  मंगदि के चाि द्ाि हैं।
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं/हैं?
(a) उपयु्डक्त में से कोई ्हीं  
(b) केवल एक
(c) केवल दो   
(d) सभी ती्

54.  गलिलेिरलि लििे आउटबसट्क फलिड (GLOF) िे संबंध में 
लनमनललिलित ि्थनों पर लवचार िरें?

  1.  GLOF गलेगशयि के गपघल्े से ब्ी झील से अचा्क 
पा्ी का ग्कल्ा ह ैजो गलेगशयि की सतह के ्ीचे ब्ी 
ह।ै

2.  जलवायु परिवत्ड् के कािण गहम्दों के पीछे हट्े से कई 
्ई गहम्द झीलों का ग्मा्डण हुआ ह,ै जो GLOF का प्रमुख 
कािण हैं।

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    
(b) केवल 2
(c) उपयु्डक्त दो्ों   
(d) उपयु्डक्त में से कोई ्हीं 

55.  लवविभारती िे संबंध में लनमनललिलित ि्थनों पर लवचार 
िरें

1.  इसकी सथाप्ा 1921 में श्ी अिगबंदो घोष ्े की थी।
2.  1951 में संसद के एक अगधग्यम द्ािा संसथा् को कें द्ीय 

गवविगवद्ालय का दजा्ड गदया िया।
3.  यह पगचिम बंिाल के शांगतग्केत् में गसथत ह।ै
4.  यह वत्डमा् में एक िाष्ट्रीय महतव का संसथा् ह,ै गजसे 

गवविगवद्ालय अ्ुदा् आयोि (UGC)) द्ािा अगधसनूच्ा 
द्ािा चुग्ंदा गवविगवद्ालयों को प्रदा् गकया जाता ह।ै

उपरोक्त में स ेलितन ेि्थन सही हैं/हैं?
(a) केवल 1    
(b) केवल 2
(c) केवल 3    
(d) सभी 4

56.  नमो भारत िे संदभ्क में लनमनललिलित ि्थनों पर लवचार 
िरें :

1.  यह एक म्फटीमॉडल सेमी-हाई-सपीड के्षत्रीय िैगपड ट्रांगजट 
गससटम ह ैजो संतुगलत औि गटकाऊ शहिी गवकास सुग्गचित 
किता ह।ै

2.  यह िुजिात के जयपुि से पगचिम बंिाल के कोलकाता तक 
पगचिमी भाित को पनूवगी भाित से जोडता ह।ै

3.  िाष्ट्रीय िाजधा्ी के्षत्र परिवह् ग्िम (NCRTC) जो 
आवास औि शहिी मामलों के मंत्रालय के अंति्डत आता ह,ै 
्मो भाित के गलए काया्डनवय् एजेंसी ह।ै

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   
(b) केवल दो
(c) उपयु्डक्त ती्ों   
(d) कोई ्हीं

57.  लनपटान गारंटी लनलध (SGF) िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  सेटलमेंट िािंटी फंड (SGF) एक कोष ह ैगजसका उपयोि 
गड़िॉ्फट के दौिा् टे्रडों के ग्पटा् के गलए गकया जाता ह।ै

2.  सटॉक ए्सचेंज, ग्लयरिंि कॉिपोिेश् औि ब्रोकि जसेै 
सभी मधयसथ SGF में योिदा् किते हैं।

3.  SGF केवल प्रगतभनूगतयों के रूप में प्राप्त होता ह।ै
ऊपर लदए गए उपरोक्त ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   (b) केवल दो
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त में से कोई ्हीं

58.  I2U2 पहलि िे संबंध में, लनमनललिलित दिेों पर लवचार 
िरें :

1.  इजिाइल     2.  इिाक
3.  ईिा्           4.  भाित
लनमनललिलित में स ेलितन ेदिे I2U2 पहलि िा लहससा हैं/हैं?
(a) केवल एक   (b) केवल दो
(c) केवल ती्   (d) सभी चाि

59.  नरूनतम सम्थ्कन मू्र (MSP) िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह कृगष लाित औि मनू्फय आयोि (CACP) की गसफारिशों 
के आधाि पि सिकाि द्ािा तय गकया जाएिा।

2.  िंििाज् आयोि ्े गसफारिश की गक MSP भारित औसत 
से कम से कम 50% अगधक हो्ा चागहए।

3.  भाित में, MSP 22 खिी़ि, िबी औि िन्े सगहत वागणगजयक 
फसलों पि लािनू होते हैं।

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक 
(b)  केवल दो
(c) उपयु्डक्त ती्ों 
(d)  उपयु्डक्त में से कोई ्हीं

60.  गो्डन पीिॉि परुसिार िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  इसे दुग्या भि में कॉपवोिेट उतकृटिता का एक बेंचमाक्ड  
पुिसकाि मा्ा जाता ह ै गजसे 1991 में इंसटीट्यनूट ऑफ 
डायिे्टस्ड, भाित द्ािा सथागपत गकया िया था।

2.  कें द्ीय साव्डजग्क के्षत्र के उद्म आिईसी गलगमटेड को 
2023 में जोगखम प्रबंध् में िो्फड् पीकॉक अवाड्ड  गमला।

उपरोक्त में स ेिौन सा ि्थन सही ह/ैहैं?
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

61.  प्रसारण सामग्ी लििारत पररषद िे संबंध में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह एक सवतंत्र सव-ग्यामक ग्काय के रूप में काय्ड 
किता ह।ै

2.  अधयक्ष आमतौि पि सववोचच नयायालय या उचच नयायालय 
का एक सेवाित नयायाधीश होता ह।ै

3.  BCC का सव-ग्यामक दृगटिकोण प्रसािण उद्ोि को 
सामग्री गवग्यम् में अप्ी बात कह्े का अगधकाि देता 
ह।ै

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   (b) केवल दो
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त में से कोई ्हीं



16Page No.
Address: Police Line Road, Daltonganj, Palamu, Jharkhand : 7909017633        :contact@ccsupsc.com        : ccsupsc.com

Q62.  Which of the following phenomenons are 
correct regarding an earthquake event?

1. The deeper the earthquake, the more intense the 
shaking will be at the surface. 

2. Larger magnitude earthquakes will produce 
more intense shaking.

3. The shaking during an earthquake will be more 
intense the closer you are to the epicenter.

4. The presence of peat soil in an area tends to 
lessen the intensity of earthquakes experienced 
in that location.

Select the correct answer from the codes given below:
(a) 1 and 2 only   (b) 2, 3 and 4 only
(c) 2 and 3 only   (d) 1, 2 and 3 only

Q63.  Consider the following statements:
1.  Nutrition security can only be achieved 

sustainably if the producers producing the food 
make reasonable economic returns that are 
resilient over time.

2.  According to the 2023 soil health survey, over 
50% of India’s cultivable land has experienced 
an increase in organic carbon levels due to the 
adoption of sustainable agricultural practices.

3.  In India, the simultaneous presence of nutrient 
deficiencies and obesity is referred to as the “dual 
nutritional challenge.”

How many of the above statements are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q64.  Consider the following statements::
1. India is the world’s third-largest emitter of 

greenhouse gases, but its per capita emissions are 
much lower than those of developed countries.

2. India’s Nationally Determined Contributions 
(NCD) aim to ensure that 40% of the total 
installed power generation capacity is clean 
energy.

Select the correct answer from the codes given below:
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q65. With reference to Niemann-Pick disease (NP(d) 
consider the following statements:

1. It is a group of rare and inherited metabolic 
disorders that affect the body’s ability to process 
lipids or fats properly.

2. NPD is caused by mutations in genes that code 
for enzymes that break down cholesterol and 
other fatty substances.

3.  People with NPD Type B can be cured with a 
gene therapy..

Which of the statements given above are correct?
(a) 1 and 2 only   (b) 2 and 3 only
(c) 1 and 3 only   (d) 1, 2 and 3

Q66. Which of the following statements is correct 
regarding Estivation?

(a) It is a state of inactivity that some animals enter 
during the winter months, usually to conserve 
energy and endure cold temperatures.  

(b)  It is a state of inactivity or dormancy, often used 
in the context of plants or microorganisms during 
adverse conditions.

(c) It is a state of dormancy that takes place during the 
hot and dry summer months when temperatures 
are high and water and food resources may be 
scarce.   

(d) It is a state of suspended development in 
animals, caused by environmental factors such as 
temperature or light

Q67. With reference to “Leniency plus Programme” 
consider the following statements:

1. It is an initiative introduced by the Competition 
Commission of India (CCI) that is designed to 
encourage companies to disclose information 
about cartels and other anti-competitive practices 
in exchange for reduced penalties.

2. Under the Leniency Plus Programme, a 
company that has already applied for leniency 
in an ongoing cartel investigation can submit 
a separate application for leniency in another 
cartel investigation..

Select the correct statements using the codes given 
below:
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q68. What is the main objective of the recently 
launched Meri Maati Mera Desh campaign?

(a) Check the health of soil across the country 
(b) Promote domestic tourism in India
(c) Cultural integration among different 

communities, especially tribes   
(d) Honour freedom fighters and martyrs of the 

country

Q69. Consider the following statements with reference 
to Amrit Kaal Vision 2047:

1.  It is the long-term blueprint for the Indian 
maritime blue economy for enhancing port, 
promoting sustainable practices and facilitating 
global collaboration.

2.  It aims to quadruple port capacity to 10,000 
million tonnes per annum (mtpa) by 2047.

3.  The vision includes a strategy to make major 
ports carbon-neutral and push for domestic 
hydrogen production and distribution.

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None
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62.  भूिंप िी घटना िे संबंध में लनमनललिलित में स ेिौन सी 
घटना सही ह?ै

1.  भनूकंप गजत्ा िहिा होिा, सतह पि कंप् उत्ा ही तीव्र 
होिा।

2.  बडे परिमाण के भनूकंप अगधक तीव्र झटके उतपन् किें िे।
3.  भनूकंप के दौिा् झटके अगधक तीव्र होंिे गजत्ा आप भनूकंप 

के कें द् के किीब होंिे।
4.  गकसी के्षत्र में पीट गमट्ी की मौजनूदिी से उस सथा् पि आ्े 

वाले भनूकंप की तीव्रता कम हो जाती ह।ै
नीच ेलदए गए िोड स ेसही उत्तर चनुें:
(a) केवल 1 औि 2   (b) केवल 2, 3 औि 4
(c) केवल 2 औि 3   (d) केवल 1, 2 औि 3

63.  लनमनललिलित ि्थनों पर लवचार िरें :
1.  पोषण सुिक्षा केवल तभी सथायी रूप से प्राप्त की जा सकती 

ह ै जब भोज् का उतपाद् कि्े वाले उतपादक उगचत 
आगथ्डक रिट ््ड कमाते हैं जो समय के साथ लचीला हो।

2.  2023 के मदृा सवासथय सवदेक्षण के अ्ुसाि, भाित की 50% 
से अगधक कृगष योगय भनूगम में गटकाऊ कृगष पद्धगतयों को 
अप्ा्े के कािण काब्डग्क काब्ड् के सति में वगृद्ध का 
अ्ुभव हुआ ह।ै

3.  भाित में, पोषक ततवों की कमी औि मोटापे की एक साथ 
उपगसथगत को "दोहिी पोषण चु्ौती" कहा जाता ह।ै

उपरोक्त में स ेलितन ेि्थन सही हैं?
(a) केवल एक   (b) केवल दो
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त में से कोई ्हीं

64.  लनमनललिलित ि्थनों पर लवचार िरें :
1.  भाित ग्री्हाउस िसैों का दुग्या का तीसिा सबसे बडा 

उतसज्डक ह,ै लेगक् इसका प्रगत वयगक्त उतसज्ड् गवकगसत 
देशों की तुल्ा में बहुत कम ह।ै

2.  भाित के िाष्ट्रीय सति पि ग्धा्डरित योिदा् (NCD) का 
लक्य यह सुग्गचित कि्ा ह ै गक कुल सथागपत गबजली 
उतपाद् क्षमता का 40% सवचछ ऊजा्ड ह।ै

नीच ेलदए गए िोड स ेसही उत्तर चनुें:
(a) केवल 1    
(b)  केवल 2
(c) 1 औि 2 दो्ों   
(d)  ् तो 1 औि ् ही 2

65.  नीमन-लपि रोग (NPD) िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह दुल्डभ औि वंशा्ुित चयापचय संबंधी गवकािों का एक 
समनूह ह ैजो शिीि की गलगपड या वसा को ठीक से संसागधत 
कि्े की क्षमता को प्रभागवत किता ह।ै

2.  NPD जी् में उतपरिवत्ड् के कािण होता ह ैजो कोलेसट्रॉल 
औि अनय वसायुक्त पदाथगों को तोड्े वाले एंजाइमों के गलए 
कोड किता ह।ै

3.  NPD टाइप B वाले लोिों को जी् थेिेपी से ठीक गकया जा 
सकता ह।ै

ऊपर लदए गए ि्थनों में स ेिौन सा सही ह?ै
(a) केवल 1 औि 2   
(b)  केवल 2 औि 3
(c) केवल 1 औि 3   
(d)  1, 2 औि 3

66.  अनमुान िे संबंध में लनमनललिलित में स ेिौन सा ि्थन 
सही ह?ै

(a) यह ग्गष्क्रयता की गसथगत ह ैगजसमें कुछ जा्वि सगद्डयों 
के मही्ों के दौिा् प्रवेश किते हैं, आमतौि पि ऊजा्ड 
बचा्े औि ठंडे तापमा् को सह् कि्े के गलए।

(b) यह ग्गष्क्रयता या ग्गष्क्रयता की गसथगत ह,ै गजसका 
उपयोि अ्सि प्रगतकनू ल परिगसथगतयों के दौिा् पौधों या 
सनूक्मजीवों के संदभ्ड में गकया जाता ह।ै

(c) यह सुप्त अवसथा ह ैजो िम्ड औि शुष्क िमगी के मही्ों के 
दौिा् होती ह ैजब तापमा् अगधक होता ह ैऔि पा्ी औि 
खाद् संसाध्ों की कमी हो सकती ह।ै

(d)  यह जा्विों में ग्लंगबत गवकास की गसथगत ह,ै जो तापमा् 
या प्रकाश जसेै पया्डविणीय कािकों के कािण होता है

67.  “उदारता पलिस िार्कक्रम" िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह भाितीय प्रगतसपधा्ड आयोि (CCI) द्ािा शुरू की िई एक 
पहल ह ैगजसे कम दंड के बदले में कंपग्यों को काटदेल औि 
अनय प्रगतसपधा्ड-गविोधी प्रथाओ ं के बािे में जा्कािी का 
खुलासा कि्े के गलए प्रोतसागहत कि्े के गलए गडजाइ् 
गकया िया ह।ै

2.  उदािता पलस काय्डक्रम के तहत, एक कंप्ी गजस्े पहले 
से ही चल िही काटदेल जांच में उदािता के गलए आवेद् 
गकया ह,ै वह गकसी अनय काटदेल जांच में उदािता के गलए 
एक अलि आवेद् जमा कि सकती ह।ै

नीच ेलदए गए िोड िा उपरोग िरिे सही ि्थन चनुें:
(a) केवल 1    
(b)  केवल 2
(c) 1 औि 2 दो्ों   
(d)  ् तो 1 औि ् ही 2

68.  हालि ही में िरुू लिर ेगर े‘मरेी माटी, मरेा दिे’ अलभरान 
िा मखुर उद्शेर ्रा ह?ै

(a) देश भि में गमट्ी के सवासथय की जाँच कि्ा
(b)  भाित में घिेलनू पय्डट् को बढावा दे्ा
(c) गवगभन् समुदायों, गवशेषकि ज्जागतयों के बीच 

सांसकृगतक एकीकिण
(d)  देश के सवतंत्रता से्ाग्यों औि शहीदों का सममा् कि्ा

69.  अमतृ िालि लवजन 2047 िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह बंदििाह को बढा्े, गटकाऊ प्रथाओ ंको बढावा दे्े औि 
वगैविक सहयोि को सुगवधाज्क ब्ा्े के गलए भाितीय 
समुद्ी ्ीली अथ्डवयवसथा का दीघ्डकागलक खाका ह।ै

2.  इसका लक्य 2047 तक बंदििाह क्षमता को चौिु्ा किके 
10,000 गमगलय् ट् प्रगत वष्ड (MTPA) कि्ा ह।ै

3.  इस दृगटिकोण में प्रमुख बंदििाहों को काब्ड्-तटसथ ब्ा्े 
औि घिेलनू हाइड्ोज् उतपाद् औि गवतिण पि जोि दे्े की 
िण्ीगत शागमल ह।ै

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   
(b)  केवल दो
(c) उपयु्डक्त ती्ों   
(d)  उपयु्डक्त में से कोई ्हीं
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Q70. Consider the following statements, with 
reference to the Microbial Rhodopsins:

1.  Rhodopsin is a light-responsive protein that 
helps the microalgae flourishes with the help of 
sunlight in place of traditional chlorophyll.

2.  Rhodopsins were found to be more concentrated 
in high latitudes, where there is more mixing 
of ocean waters and lower concentrations of 
nutrients.

Which of the above statements is/are correct?
(a) 1 only    
(b)  2 only
(c) Both 1 and 2   
(d)  Neither 1 nor 2

Q71.  With reference to ‘General Provident Fund 
(GPF)’, consider the following statements:

1.  It is a provident fund account that is available for 
both government and private employees.

2.  It is a mandatory scheme, requiring them to 
contribute a certain percentage of their salary 
towards the fund.

Which of the above statements is/are correct?
(a) 1 only    
(b)  2 only
(c) Both 1 and 2   
(d) Neither 1 nor 2

Q72.  Consider the following statements, with 
reference to the QR codes:

1.  Quick response (QR) codes are square-shaped 
matrices of dark or light pixels.

2.  It is used to encode and quickly retrieve data 
using computer devices.

3.  It is completely different from barcodes.
How many of the statements given above are correct?
(a) Only one   
(b) Only two
(c) All three   
(d)  None

Q73.  Consider the following statements, with 
reference to Subsidiary Body on Scientific, 
Technical and Technological Advice (SBSTTA):

1.  It is an open-ended intergovernmental scientific 
advisory body established by the Convention on 
Biological Diversity.

2.  It provides timely advice relating to the 
implementation of the Convention.

3.  The 25th meeting of SBSTTA was held at Delhi, 
India.

How many of the statements given above are not 
correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q74.  Consider the following statements regarding 
“Bharatiya Antariksha Station” or Indian Space 
Station (BAS/ISS):

1.  Indian Prime Minister has directed the Indian 
Space Agency (ISRO) to set up an indigenous 
space station (BSS/ISS) by 2035 and land an 
Indian on the moon by 2040.

2.  International Space Station or ISS, orbiting 
in low earth orbit (LEO), is expected to be 
decommissioned by 2030.

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q75. Consider the following statements with reference 
to Bufoides bhupathyi:

1. Bufoides bhupathyi is a toad species. 
2. It is found in the rainforests of South India.
3. It differs from other similar species in terms of 

colouration, skin and the presence of depressed 
parotid glands.

How many of the above statements are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q76. With reference to “White phosphorus” which of 
the following statements are correct?

1. It is a highly combustible chemical that burns 
quickly and brightly when exposed to air. 

2. It is classified as a chemical weapon because of its 
high toxicity.

3. It is not found naturally but is produced from 
phosphate rocks..

Select the correct answer using the codes given be-
low:
(a) 1 and 2 only   
(b) 2 and 3 only
(c) 1 and 3 only   
(d) 1, 2 and 3

Q77. With reference to essential features of a 
democracy, which of the following statements is/
are correct?

1. The principle of majority decision-making, 
where decisions should also be made under 
democratic conditions, treats all members with 
equal respect and concern.

2. A culturally or ethnically homogeneous 
population where the majority of individuals 
share the same or a very similar ethnic or racial 
background.

Select the correct answer from the codes given below:
(a) 1 only    
(b)  2 only
(c) Both 1 and 2  
(d)  Neither 1 nor 2
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70.  माइक्रोलबरलि रोडोलपसन िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  िोडोगपस् एक प्रकाश-प्रगतगक्रयाशील प्रोटी् ह ै जो 
पािंपरिक ्लोिोगफल के सथा् पि सनूय्ड के प्रकाश की 
मदद से सनूक्म शवैाल को प्प्े में मदद किता ह।ै

2.  िोडोगपस् उचच अक्षांशों में अगधक कें गद्त पाए िए, जहां 
समुद् के पा्ी का गमश्ण अगधक होता ह ैऔि पोषक ततवों 
की सांद्ता कम होती ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1
(b) केवल 2
(c) 1 औि 2 दो्ों
(d) ् तो 1 औि ् ही 2

71.  ‘सामानर भलवष्र लनलध (GPF)’ िे संदभ्क में, लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह एक भगवष्य ग्गध खाता ह ै जो सिकािी औि ग्जी 
दो्ों कम्डचारियों के गलए उपल्ध ह।ै

2.  यह एक अग्वाय्ड योज्ा ह,ै गजसमें उनहें अप्े वेत् 
का एक ग्गचित प्रगतशत फंड में योिदा् कि्े की 
आवशयकता होती ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1
(b)  केवल 2
(c) 1 औि 2 दो्ों
(d)  ् तो 1 औि ् ही 2

72.  QR िोड िे संदभ्क में लनमनललिलित ि्थनों पर लवचार िरें:
1.  तवरित प्रगतगक्रया (QR) कोड िहिे या ह्फके गप्सल के 

चौकोि आकाि के मगैट्र्स होते हैं।
2.  इसका उपयोि कंपयनूटि उपकिणों का उपयोि किके डेटा 

को एनकोड कि्े औि ज्फदी से पु्प्रा्डप्त कि्े के गलए 
गकया जाता ह।ै

3.  यह बािकोड से गब्फकुल अलि ह.ै
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक
(b)  केवल दो
(c) उपयु्डक्त ती्ों
(d)  उपयु्डक्त में से कोई ्हीं

73.  वजै्ालनि, तिनीिी और तिनीिी सलिाह पर सहारि 
लनिार (SBSTTA) िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  यह जगैवक गवगवधता पि कनवेंश् द्ािा सथागपत एक खुला 
अंतःसिकािी वजै्ाग्क सलाहकाि ग्काय ह।ै

2.  यह कनवेंश् के काया्डनवय् से संबंगधत समय पि सलाह 
प्रदा् किता ह।ै

3.  SBSTTA की 25वीं बठैक गद्फली, भाित में आयोगजत की िई।
ऊपर लदए गए लितन ेि्थन सही नहीं हैं?
(a) केवल एक   
(b)  केवल दो
(c) उपयु्डक्त ती्ों   
(d)  उपयु्डक्त में से कोई ्हीं

74.  “भारतीर अंतररक् सटिेन" रा भारतीर अंतररक् सटिेन 
(BAS/ISS) िे संबंध में लनमनललिलित ि्थनों पर लवचार 
िरें :

1.  भाितीय प्रधा् मंत्री ्े भाितीय अंतरिक्ष एजेंसी (इसिो) 
को 2035 तक एक सवदेशी अंतरिक्ष सटेश् (BSS/ISS) 
सथागपत कि्े औि 2040 तक चंद्मा पि एक भाितीय को 
उताि्े का ग्ददेश गदया ह।ै

2.  अंतििाष्ट्रीय अंतरिक्ष सटेश् या ISS, जो पथृवी की ग्चली 
कक्षा (LEO) में परिक्रमा कि िहा ह,ै के 2030 तक बंद हो्े 
की उममीद ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

75.  बिुोइड्स भूपलत िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  बु़िोइड्स भनूपगत एक मेंढक प्रजागत ह।ै
2.  यह दगक्षण भाित के वषा्डव्ों में पाया जाता ह।ै
3.  यह िंि, तवचा औि दबी हुई पिैोगटड गं्रगथयों की उपगसथगत 

के मामले में अनय समा् प्रजागतयों से गभन् ह।ै
उपरोक्त में स ेलितन ेि्थन सही हैं?
(a) केवल एक   
(b)  केवल दो
(c) उपयु्डक्त ती्ों   
(d)  उपयु्डक्त में से कोई ्हीं

76.  “विते िासिोरस" िे संदभ्क में लनमनललिलित में स ेिौन 
स ेि्थन सही हैं ?

1.  यह एक अतयगधक जवल्शील िसाय् ह ै जो हवा के 
संपक्ड  में आ्े पि तेजी से औि चमकीला जलता ह।ै

2.  इसकी उचच गवषाक्तता के कािण इसे िासायग्क हगथयाि 
के रूप में विगीकृत गकया िया ह।ै

3.  यह प्राकृगतक रूप से ्हीं पाया जाता बग्फक फॉसफेट 
चट्ा्ों से उतपन् होता ह।ै

नीच ेलदए गए िोड िा उपरोग िरिे सही उत्तर चनुें:
(a) केवल 1 औि 2
(b)  केवल 2 औि 3
(c) केवल 1 औि 3
(d)  1, 2 औि 3

77.  लिोिततं् िी आवशरि लविषेताओ ं िे संदभ्क में, 
लनमनललिलित में स ेिौन सा/स ेि्थन सही ह/ैहैं?

1.  बहुमत से ग्ण्डय ले्े का गसद्धांत, जहां ग्ण्डय लोकतांगत्रक 
परिगसथगतयों में भी गकए जा्े चागहए, सभी सदसयों के साथ 
समा् सममा् औि गचंता का वयवहाि किता ह।ै

2.  सांसकृगतक या जातीय रूप से सजातीय आबादी जहां 
अगधकांश वयगक्त समा् या बहुत समा् जातीय या ् सलीय 
पषृ्ठभनूगम साझा किते हैं।

नीच ेलदए गए िोड स ेसही उत्तर चनुें:
(a) केवल 1
(b) केवल 2
(c) 1 औि 2 दो्ों
(d) ् तो 1 औि ् ही 2
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Q78. Consider the following statements:
1. E-rupee is a cryptocurrency issued by the Indian 

government.
2. The e-rupee is different from other digital 

payment methods, such as UPI, in that it is a 
direct liability of the RBI.

Select the correct answer from the codes given below:
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q79. With reference to Open Acreage Licensing Policy 
(OALP) consider the following statements:

1. It is a part of the Hydrocarbon Exploration and 
Licensing Policy (HELP).

2. OALP gives a company an option to select the 
exploration blocks on its own without waiting for 
the formal bid round from the Government.

3. Under OALP, a bidder intending to explore 
hydrocarbons may apply to the Government 
seeking exploration of any new block which was 
not already covered by exploration..

How many of the above statements are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q80. Consider the following statements::
1. 75% of new infectious diseases that have emerged 

in the last 30 years are zoonotic.
2. In India, snake bites continue to be a huge 

problem causing nearly 60,000 deaths annually. 
Which of the statements given above is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q81.  Consider the following statements:
1.  Ecomark scheme is under LiFE Initiative and is 

administered by the Ministry of Environment, 
Forest and Climate Change (MoEFCC).

2.  Green Credit Programme is a market-based 
mechanism that focuses on afforestation and 
water conservation.

3.  Green credit programme is implemented by 
the Indian Council of Forestry Research and 
Education (ICFRE).

How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q82.  Consider the following statements, with 
reference to the African swine fever:

1.  It is a highly contagious and deadly viral disease that 
affects both domestic and feral swine of all ages.

2.  It is endemic to Africa and not a threat to human 
health.

Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q83. 75/25 initiative of Indian government is related 
to:

(a) Providing standard of care for 75 million individuals 
with hypertension and diabetes by 2025   

(b) Immunization of 75 million under 12 years 
children by 2025

(c) Reduction of 75% carbon emission from the 
thermal power plant by 2025  

(d)  Promoting the investment model with the 
sharing of 75 percentage of private institution 
and 25 percentage of government

Q84. Consider the following statements, with 
reference to Aerosols:

1.  Aerosols are tiny solid particles suspended in the 
atmosphere.

2.  These are formed only by natural processes such 
as dust storms, sea spray, volcanic eruptions, and 
wildfires.

3.  Aerosols can vary widely in size.
How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q85. Consider the following statements regarding the 
women’s reservation bill or Nari Shakti Vandan 
Adhiniyam:

1.  It reserves one-third (33%) of the seats in Lok 
Sabha, State legislative assemblies and the Delhi 
assembly for women.

2.  This will also apply to the seats reserved for SCs 
(Scheduled Castes) and STs (Scheduled Tribes) 
in Lok Sabha and State Legislatures.

3.  This reservation will be implemented from the 
upcoming 2024 General Elections.

Which of the above statements is/are correct?
(a) None of the statements
 (b) Only 1 statement
(c) Only 2 statements   
(d) All 3 statements

Q86. Consider the following statements, with 
respect to Mahatma Gandhi National Rural 
Employment Guarantee Scheme (MNREGS)

1.   It provides a legal guarantee for one hundred 
days of employment in every financial year to 
adult members of any rural household

2.  Under the scheme, wage employment will be 
provided to the applicant within 15 days of 
submitting the application

3.  Under the scheme, Priority shall be given to 
women in such a way that at least one-third of 
the beneficiaries shall be women.

Which of the statements given above is/are correct?
(a) 1 only    (b) 2 and 3 only
(c) 1 and 2 only   (d) 1, 2 & 3
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78.  लनमनललिलित ि्थनों पर लवचार िरें :
1.  ई-रुपी भाित सिकाि द्ािा जािी की िई एक गक्रपटोकिें सी ह।ै
2.  ई-रुपया अनय गडगजटल भुिता् गवगधयों, जसेै गक UPI, से 

अलि ह,ै ्योंगक यह RBI की प्रतयक्ष दे्दािी ह।ै
नीच ेलदए गए िोड स ेसही उत्तर चनुें:
(a) केवल 1    
(b)  केवल 2
(c) 1 औि 2 दो्ों   
(d)  ् तो 1 औि ् ही 2

79.  ओपन एिरेज लिाइसेंलसंग पॉललिसी (OALP) िे संदभ्क में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह हाइड्ोकाब्ड् अनवेषण औि लाइसेंगसंि ्ीगत (HELP) 
का एक गहससा ह।ै

2.  OALP गकसी कंप्ी को सिकाि से औपचारिक बोली दौि 
की प्रतीक्षा गकए गब्ा सवयं अनवेषण ्लॉकों का चय् 
कि्े का गवक्फप देता ह।ै

3.  OALP के तहत, हाइड्ोकाब्ड् का पता लिा्े का इचछुक 
बोलीदाता गकसी भी ्ए ्लॉक की खोज के गलए सिकाि 
के पास आवेद् कि सकता ह ैजो पहले से ही अनवेषण के 
दायिे में ्हीं आया ह।ै

उपरोक्त में स ेलितन ेि्थन सही हैं?
(a) केवल एक   (b) केवल दो
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त में से कोई ्हीं

80.  लनमनललिलित ि्थनों पर लवचार िरें ::
1.  गपछले 30 वषगों में साम्े आए 75% ्ए संक्रामक िोि 

जन्ू ोगटक हैं।
2.  भाित में सांप का काट्ा एक बडी समसया ब्ी हुई ह,ै 

गजससे साला्ा लिभि 60,000 लोिों की मौत हो जाती ह।ै
ऊपर लदए गए ि्थनों में स ेिौन सा/स ेसही ह/ैहैं?
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

81.  लनमनललिलित ि्थनों पर लवचार िरें :
1.  इकोमाक्ड  योज्ा LiFE पहल के तहत ह ैऔि पया्डविण, व् 

औि जलवायु परिवत्ड् मंत्रालय (MoEFCC) द्ािा प्रशागसत 
ह।ै

2.  ग्री् के्रगडट काय्डक्रम एक बाजाि-आधारित तंत्र ह ै जो 
व्ीकिण औि जल संिक्षण पि कें गद्त ह।ै

3.  ग्री् के्रगडट काय्डक्रम भाितीय वाग्की अ्ुसंधा् औि 
गशक्षा परिषद (ICFRE) द्ािा काया्डगनवत गकया जाता ह।ै

ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   (b) केवल दो
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त  में से कोई ्हीं

82.  अफ़ीिी सवाइन बिुार िे संदभ्क में लनमनललिलित ि्थनों 
पर लवचार िरें :

1.  यह एक अतयगधक संक्रामक औि घातक वायिल बीमािी ह ै
जो सभी उम्र के घिेलनू औि जंिली सनूअिों को प्रभागवत किती 
ह।ै

2.  यह अफ़ीका में सथाग्क ह ै औि मा्व सवासथय के गलए 
खतिा ्हीं ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

83.  भारत सरिार िी 75/25 पहलि लिसस ेसंबंलधत ह:ै
(a) 2025 तक उचच िक्तचाप औि मधुमेह से पीगडत 75 गमगलय् 

वयगक्तयों के गलए मा्क देखभाल प्रदा् कि्ा
(b) 2025 तक 12 वष्ड से कम उम्र के 75 गमगलय् बचचों का 

टीकाकिण
(c) 2025 तक थम्डल पावि पलांट से 75% काब्ड् उतसज्ड् में 

कमी
(d)  ग्जी संसथा् की 75 प्रगतशत औि सिकाि की 25 प्रगतशत 

गहससेदािी के साथ ग्वेश मॉडल को बढावा दे्ा

84.  एरोसोलि िे संदभ्क में लनमनललिलित ि्थनों पर लवचार 
िरें :

1.  एिोसोल वायुमंडल में ग्लंगबत छोटे ठोस कण हैं।
2.  इ्का ग्मा्डण केवल प्राकृगतक प्रगक्रयाओ ंजसेै धनूल भिी 

आँधी, समुद्ी सपे्र, जवालामुखी गवसफोट औि जंिल की आि 
से होता ह।ै

3.  एिोसोल आकाि में वयापक रूप से गभन् हो सकते हैं।
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   
(b)  केवल दो
(c) उपयु्डक्त ती्ों   
(d)  उपयु्डक्त में से कोई ्हीं

85.  मलहलिा आरक्ण लवधरेि रा नारी िलक्त वंदन अलधलनरम 
िे संबंध में लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह मगहलाओ ंके गलए लोकसभा, िाजय गवधा्सभाओ ंऔि 
गद्फली गवधा्सभा में एक गतहाई (33%) सीटें आिगक्षत 
किता ह।ै

2.  यह लोकसभा औि िाजय गवधा्सभाओ ंमें SC (अ्ुसनूगचत 
जागत) औि ST (अ्ुसनूगचत ज्जागत) के गलए आिगक्षत 
सीटों पि भी लािनू होिा।

3.  यह आिक्षण आिामी 2024 के आम चु्ाव से लािनू गकया 
जाएिा।

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) कोई भी कथ् ्हीं
(b)  केवल 1 कथ्
(c) केवल 2 कथ्
(d)  उपयु्डक्त सभी 

86.  महातमा गांधी राष्ट्ीर ग्ामीण रोजगार गारंटी रोजना 
(मनरेगा) िे संबंध में लनमनललिलित ि्थनों पर लवचार िरें?

1.  यह गकसी भी ग्रामीण परिवाि के वयसक सदसयों को 
प्रतयेक गवत्ीय वष्ड में एक सौ गद्ों के िोजिाि की का्न्ू ी 
िािंटी प्रदा् किता है

2.  योज्ा के तहत आवेद् जमा कि्े के 15 गद् के भीति 
आवेदक को मजदनूिी िोजिाि उपल्ध किाया जाएिा

3.  योज्ा के तहत मगहलाओ ंको प्राथगमकता इस प्रकाि दी 
जाएिी गक कम से कम एक गतहाई लाभाथगी मगहलाएं हों।

ऊपर लदए गए ि्थनों में स ेिौन सा/स ेसही ह/ैहैं?
(a) केवल 1    
(b) केवल 2 औि 3
(c) केवल 1 औि 2   
(d) 1, 2 औि 3
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Q87. Consider the following statements regarding 
Belt and Road Initiative (BRI):

1.  It is a large-scale infrastructure development 
programme launched by China in 2013. 

2.  BRI comprises two components: Silk Road Economic 
Belt (SREB) and Maritime Silk Road (MSR).

3.  It was earlier known as One Belt One Road 
(OBOR).

4.  Partnership for Global Infrastructure Investment 
(PGII) is a west-led infrastructure plan to counter 
the China-led BRI.

Which of the statements is/are correct?
(a) Only 1 statement  
(b)  Only 2 statements
(c) Only 3 statements  
(d)  All 4 statements

Q88. Consider the following statements, with 
reference to Global Hunger Index, 2023:

1.  India ranked 111 out of the 125 countries in the 
index.

2.  The index is released by Concern Worldwide 
and Welthungerhilfe.

3.  India has the highest child wasting rate in the 
world at 18.7%.

How many of the statements given above are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q89. Consider the following statements, with 
reference to Setu Bandhan Scheme:

1.  The scheme aims to improve inter-state 
connectivity, especially on the rural areas at the 
borders.

2.  The scheme is an initiative of the Ministry of 
Road Transport and Highways.

Which of the above statements is/are correct?
(a) 1 only   
(b)  2 only
(c) Both 1 and 2  
(d)  Neither 1 nor 2

Q90. Consider the following statements, with 
reference to Assisted Reproductive Technology 
(ART) in India:

1.  It is the handling of sperm or the oocyte outside 
the human body and transferring into the 
reproductive system of a woman.

2.  In India, ART is open only to married couples.
3.  Only a married woman with a child of her own 

can become a surrogate mother in India.
Which of the above statements is/are correct?
(a) 1 and 2 only  
(b)  1 and 3 only
(c) 2 and 3 only  
(d)  1, 2 and 3

Q91.  Consider the following statements regarding the 
Sovereign Green Bonds (SGB):

1.  They are fixed-income instruments designed 
to finance projects that have been specifically 
earmarked as climate or environment-related.

2.  SGBs are issued by the Ministry of Finance and 
the Ministry of Environment Forest and Climate 
Change.

3.  India is the only country to have issued SGBs 
exclusively to fund climate sustainability and 
green infrastructure projects.

How many of the statements is/are correct?
(a) Only one   
(b)  Only two
(c) All three   
(d)  None

Q92.  Consider the following statements regarding the 
Mahakal Temple:

1.  The Mahakal temple is located in Ujjain in the 
state of Madhya Pradesh.

2.  Ujjain is geographically situated at a spot where 
the zero meridian longitude and the Tropic of 
Cancer intersect.

3.  The temple is built using both the Chalukya and 
Maratha Style of architecture.

How many of the statements is/are correct?
(a) Only one  
 (b)  Only two
(c) All three  
 (d)  None

Q93.  Consider the following statements, with 
reference to International Big Cat Alliance:

1.  It is a mega global alliance launched by India 
during the 50th anniversary of Project Tiger.

2.  The alliance aims at the conservation of the 
world’s seven principal big cats.

Which of the above statements is/are correct?
(a) 1 only    
(b)  2 only
(c) Both 1 and 2   
(d)  Neither 1 nor 2

Q94.  With reference to Section 54EC Bonds (Capital 
Gains Bonds) consider the following statements:

1. These are fixed-income instruments that provide 
capital gains tax exemption under Section 54EC 
of the Income Tax Act to investors.

2. These bonds are transferable and can be used to 
claim a deduction on short-term capital gains.

3. These bonds offer attractive interest rates, which 
are usually higher than those offered by other 
fixed-income investment options.

How many of the above statements are correct?
(a) Only one   
(b)  Only two
(c) All three   
(d)  None
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87.  बे् ट एंड रोड इलनलिएलटव (BRI) िे संबंध में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह 2013 में ची् द्ािा शुरू गकया िया एक बडे पमैा्े का 
बुग्यादी ढांचा गवकास काय्डक्रम ह।ै

2.  BRI में दो घटक शागमल हैं: गस्फक िोड इको्ॉगमक बे्फट 
(SREB) औि समुद्ी गस्फक िोड (MSR)।

3.  इसे पहले व् बे्फट व् िोड (OBOR) के ्ाम से जा्ा 
जाता था।

4.  पाट्ड्िगशप फॉि गलोबल इंफ्ासट्र्चि इनवेसटमेंट (PGII) 
ची् के ्ेततृव वाले BRI का मुकाबला कि्े के गलए 
पगचिम के ्ेततृव वाली बुग्यादी ढांचा योज्ा ह।ै

इ्में से कौ् सा/से कथ् सही ह/ैहैं?
(a) केवल 1 कथ्   
(b)  केवल 2 कथ्
(c) केवल 3 कथ्   
(d)  सभी 4 कथ्

88.  गलिोबलि हंगर इंडे् स, 2023 िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  सनूचकांक में 125 देशों में से भाित 111वें सथा् पि ह।ै
2.  सनूचकांक कंस ््ड व्फड्डवाइड औि वे्फथंुििगह्फफे द्ािा जािी 

गकया जाता ह।ै
3.  भाित में बचचों की कमजोिी की दि दुग्या में सबसे अगधक 

18.7% ह।ै
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   
(b)  केवल दो
(c) उपयु्डक्त ती्ों   
(d)  उपयु्डक्त में से कोई ्हीं

89.  सते ुबंधन रोजना िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  इस योज्ा का उदे्शय अंति-िाजय क्ेग्टगवटी में सुधाि 
कि्ा ह,ै खासकि सीमाओ ंपि ग्रामीण के्षत्रों में।

2.  यह योज्ा सडक परिवह् औि िाजमाि्ड मंत्रालय की एक 
पहल ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    
(b)  केवल 2
(c) 1 औि 2 दो्ों   
(d)  ् तो 1 औि ् ही 2

90.  भारत में सहारि प्रजनन प्रौद्ोलगिी (ART) िे संदभ्क में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह मा्व शिीि के बाहि शुक्राणु या अंडाणु को संभाल्ा औि 
एक मगहला की प्रज्् प्रणाली में सथा्ांतरित कि्ा ह।ै

2.  भाित में, ART केवल गववागहत जोडों के गलए खुला ह।ै
3.  भाित में केवल एक गववागहत मगहला गजसके अप्े बचचे 

हो, ही सिोिेट मां ब् सकती ह।ै
उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1 औि 2   
(b)  केवल 1 औि 3
(c) केवल 2 औि 3   
(d)  1, 2 औि 3

91.  सॉवरेन ग्ीन बांड (SGB) िे संबंध में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  वे ग्गचित आय वाले उपकिण हैं जो उ् परियोज्ाओ ंको 
गवत्पोगषत कि्े के गलए गडजाइ् गकए िए हैं गजनहें गवशेष 
रूप से जलवायु या पया्डविण से संबंगधत के रूप में गचगनित 
गकया िया ह।ै

2.  SGB गवत् मंत्रालय औि पया्डविण व् औि जलवायु 
परिवत्ड् मंत्रालय द्ािा जािी गकए जाते हैं।

3.  भाित एकमात्र ऐसा देश ह ैगजस्े गवशेष रूप से जलवायु 
गसथिता औि हरित बुग्यादी ढांचा परियोज्ाओ ंको गवत् 
पोगषत कि्े के गलए एसजीबी जािी गकया ह।ै

इनमें स ेलितन ेि्थन सही हैं/हैं?
(a) केवल एक   (b) केवल दो
(c) ती्ों    (d) कोई ्हीं

92.  महािालि मंलदर िे संबंध में लनमनललिलित ि्थनों पर 
लवचार िरें :

1. महाकाल मंगदि मधय प्रदेश िाजय के उजजै्  में गसथत ह।ै
2.  उजजै्  भौिोगलक रूप से ऐसे सथा् पि गसथत ह ैजहां शनूनय 

मधयानि देशांति औि कक्ड  िेखा एक दनूसिे को काटते हैं।
3.  यह मंगदि चालु्य औि मिाठा दो्ों शगैलयों की वासतुकला 

का उपयोि किके ब्ाया िया ह।ै
इनमें स ेलितन ेि्थन सही हैं/हैं?
(a) केवल एक   
(b)  केवल दो
(c) उपयु्डक्त ती्ों   
(d)  उपयु्डक्त में से कोई ्हीं

93.  इंटरनिेनलि लबग िैट एलिारंस िे संदभ्क में लनमनललिलित 
ि्थनों पर लवचार िरें :

1.  यह प्रोजे्ट टाइिि की 50वीं वष्डिांठ के दौिा् भाित द्ािा 
शुरू गकया िया एक मेिा वगैविक िठबंध् ह।ै

2.  िठबंध् का लक्य दुग्या की सात प्रमुख बडी गबग्फलयों 
का संिक्षण कि्ा ह।ै

उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    
(b)  केवल 2
(c) 1 औि 2 दो्ों   
(d)  ् तो 1 औि ् ही 2

94.  धारा 54EC बांड (पंूजीगत लिाभ बांड) िे संदभ्क में 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  ये ग्गचित आय उपकिण हैं जो ग्वेशकों को आयकि 
अगधग्यम की धािा 54EC के तहत पनूंजीित लाभ कि छनू ट 
प्रदा् किते हैं।

2.  ये बांड हसतांतिणीय हैं औि इ्का उपयोि अ्फपकागलक 
पनूंजीित लाभ पि कटौती का दावा कि्े के गलए गकया जा 
सकता ह।ै

3.  ये बांड आकष्डक ्याज दिों की पेशकश किते हैं, जो 
आमतौि पि अनय ग्गचित आय ग्वेश गवक्फपों द्ािा दी 
जा्े वाली ्याज दिों से अगधक होती हैं।

उपरोक्त में स ेलितन ेि्थन सही हैं?
(a) केवल एक   
(b)  केवल दो
(c) उपयु्डक्त ती्ों   
(d)  उपयु्डक्त में से कोई ्हीं
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Q95. With reference to Faster Adoption and 
Manufacturing of (Hybrid &) Electric Vehicles 
in India (FAME) Scheme, consider the following 
statements:

1.  It is a government incentive scheme that aims to 
promote the adoption of gasoline vehicles in India.

2.  The scheme is being implemented by the 
Ministry of Heavy Industries.

Select the correct answer from the codes given below:
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q96. Consider the following statements:
1.  TRAFFIC is an organization established by 

WWF and IUCN to administer wildlife trade.
2.  Odisha is the highest-ranked node in the tortoise 

and hard-shell turtle trafficking network.
Which of the above statements is/are correct?
(a) 1 only    (b) 2 only
(c) Both 1 and 2   (d) Neither 1 nor 2

Q97. Consider the following statements:
1.  The Moscow format is one of the several dialogue 

platforms on Afghanistan before the Taliban 
takeover of Kabul.

2.  Both China and India are part of the Moscow 
Format.

3.  The Kazan Declaration deals with the well-
being of the Afghan People.

How many of the above statements is/are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q98. In economics, which of the following explains 
Gresham’s law?

(a) It is a monetary principle stating that “good 
money drives out bad”.   

(b) The relationship between rising household 
incomes and total food spending.

(c) It is a monetary principle stating that “bad money 
drives out good”.  

(d) The bulk of public programs are designed 
primarily to benefit the lower and middle classes, 
but are financed by taxes paid primarily by the 
upper class.

Q99. Consider the following statements, with 
reference to the Attosecond Pulses:

1.  Attosecond is a brief unit of time that helps 
capture fundamental forces such as electrons.

2.  An attosecond is one-billionth of a nanosecond.
3.  The pulses of light cannot be captured at 

Attosecond.
How many of the statements given above are correct?
(a) Only one   (b) Only two
(c) All three   (d) None

Q100. Which of the following statements about Basohli 
Pashmina is/are correct?

1.  It is a hand-spun product known for extreme softness.
2.  It is obtained from mountain goats found on the 

Changthang Plateau in Tibet and parts of Ladakh.
3.  It is a more than 100-year-old traditional craft 

from Jammu and Kashmir’s Kathua district.
Which of the above statements are correct?
(a) 1 and 2 only   (b) 1 and 3 only
(c) 2 and 3 only   (d) 1, 2 and 3



25Page No.
Address: Police Line Road, Daltonganj, Palamu, Jharkhand : 7909017633        :contact@ccsupsc.com        : ccsupsc.com

95.  भारत में (हाइलरिड और) इलिले्ट्ि वाहनों िो तजेी स े
अपनान े और लवलनमा्कण (FAME) रोजना िे संदभ्क में, 
लनमनललिलित ि्थनों पर लवचार िरें :

1.  यह एक सिकािी प्रोतसाह् योज्ा ह ै गजसका उदे्शय 
भाित में िसैोली् वाह्ों को अप्ा्े को बढावा दे्ा ह।ै

2.  यह योज्ा भािी उद्ोि मंत्रालय द्ािा काया्डगनवत की जा 
िही ह।ै

नीच ेलदए गए िोड स ेसही उत्तर चनुें:
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

96.  लनमनललिलित ि्थनों पर लवचार िरें :
1.  ट्रगैफक वनयजीव वयापाि को प्रशागसत कि्े के गलए WWF 

औि IUCN द्ािा सथागपत एक संिठ् ह।ै
2.  कछुआ औि हाड्ड-शेल कछुआ तसकिी ्ेटवक्ड  में ओगडशा 

सववोचच िैंक वाला ्ोड ह।ै
उपरोक्त में स ेिौन सा/स ेि्थन सही ह/ैहैं?
(a) केवल 1    (b) केवल 2
(c) 1 औि 2 दो्ों   (d) ् तो 1 औि ् ही 2

97.  लनमनललिलित ि्थनों पर लवचार िरें :
1.  मॉसको प्रारूप काबुल पि तागलबा् के क्जे से पहले 

अफिाग्सता् पि कई संवाद पलेटफामगों में से एक ह।ै
2.  ची् औि भाित दो्ों मासको प्रारूप का गहससा हैं।
3.  कजा् घोषणा अफिा् लोिों की भलाई से संबंगधत ह।ै
उपरोक्त में स ेलितन ेि्थन सही हैं/हैं?
(a) केवल एक   (b) केवल दो
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त में से कोई ्हीं

98.  अ्थ्किास्त्र में, लनमनललिलित में स ेिौन ग्िेम िे लनरम 
िी वराखरा िरता ह?ै

(a) यह एक मौगद्क गसद्धांत ह ैजो कहता ह ैगक "अचछा पसैा बुिे 
को बाहि ग्काल देता ह"ै।

(b)  बढती घिेलनू आय औि कुल भोज् खच्ड के बीच संबंध।
(c) यह एक मौगद्क गसद्धांत ह ै जो कहता ह ै गक "बुिा पसैा 

अचछा पसैा ग्काल देता ह"ै।
(d)  अगधकांश साव्डजग्क काय्डक्रम मुखय रूप से ग्म् औि 

मधयम वि्ड को लाभ पहंुचा्े के गलए गडजाइ् गकए िए हैं, 
लेगक् इनहें मुखय रूप से उचच वि्ड द्ािा भुिता् गकए िए 
किों द्ािा गवत् पोगषत गकया जाता ह।ै

99.  एटोसिंेड प्स िे संदभ्क में लनमनललिलित ि्थनों पर 
लवचार िरें :

1.  एटोसेकंड समय की एक संगक्षप्त इकाई ह ै जो इले्ट्रॉ्ों 
जसेै मनूलभनूत बलों को पकड्े में मदद किती ह।ै

2.  एक एटोसेकंड एक ्ै् ोसेकंड का एक अिबवाँ भाि ह।ै
3.  प्रकाश के सपंद्ों को एटोसेकें ड पि कैद ्हीं गकया जा 

सकता।
ऊपर लदए गए ि्थनों में स ेलितन ेसही हैं?
(a) केवल एक   (b) केवल दो
(c) उपयु्डक्त ती्ों   (d) उपयु्डक्त में से कोई ्हीं

100. बसोहलिी पशमीना िे बारे में लनमनललिलित में स ेिौन सा/
स ेि्थन सही ह/ैहैं?

1.  यह हाथ से काता िया उतपाद ह ैजो अतयगधक कोमलता के 
गलए जा्ा जाता ह।ै

2.  यह गत्बत के चांिथांि पठाि औि लद्ाख के कुछ गहससों 
में पाई जा्े वाली पहाडी बकरियों से प्राप्त होता ह।ै

3.  यह जममनू औि कशमीि के कठुआ गजले का 100 साल से 
अगधक पुिा्ा पािंपरिक गश्फप ह।ै

उपरोक्त में स ेिौन सा ि्थन सही ह?ै
(a) केवल 1 औि 2   (b) केवल 1 औि 3
(c) केवल 2 औि 3   (d) 1, 2 औि 3



vuqns'k
1- ijh{kk izkjEHk gksus ds rqjar ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk Nik] 

dVk ;k NwVk gqvk ì"B vFkok iz'uka'k] vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.k iqfLrdk ls cny yhft,A

2- Ñi;k è;ku j[ksa fd OMR mÙkjandi=kd esa] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k iqfLrdk vuqØe A, B, 
C, ;k D dks] è;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc¼ djus dh ftEesnkjh mEehnokj 
dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr esa mÙkjandi=kd fujLr dj fn;k tk,xkA

3- bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA
 ijh{k.k iqfLrdk ij vkSj dqN u fy[ksaA
4- bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x;s gSaA izR;sd iz'uka'k fgUnh vkSj vaxzsth nksuksa esa Nik gSA izR;sd 

iz'uka'k esa pkj izR;qÙkj (mÙkj) fn, x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkjandi=kd ij vafdr 
djuk pkgrs gaSA ;fn vkidks ,slk yxs fd ,d ls vf/d izR;qÙkj lgh gSa] rks ml izR;qÙkj dks vafdr djsa tks 
vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy, dsoy ,d gh izR;qÙkj pquuk gSA

5- vkidks vius lHkh izR;qÙkj vyx ls fn, x, mÙkjandi=kd ij gh vafdr djus gSaA mÙkjandi=kd esa fn, x, funsZ'k 
nsf[k,A

6- lHkh iz'uka'kksa ds vad leku gSaA

7- blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkjandi=kd ij vafdr djuk 'kq: djsa] 
vkidks izos'k izek.kandi=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkjandi=kd esa nsus gSaA

8- vki vius lHkh izR;qÙkjksa dks mÙkjandi=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj i=kd v/h{kd 
dks lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

9- dPps dke ds fy, i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

10- x -yr mÙkjksa ds fy, naM%

 oLrqfu"B iz'uandi=kksa esa mEehnokj }kjk fn, x, x -yr mÙkjksa ds fy, n.M fn;k tk,xkA

(i) izR;sd iz'u ds fy, pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy, fn, x, ,d xyr mÙkj ds 
fy, iz'u gsrq fu;r fd, x, vadksa dk ,dandfrgkbZ n.M ds :i esa dkVk tk,xkA

(ii) ;fn dksbZ mEehnokj ,d ls vf/d mÙkj nsrk gS] rks bls x -yr mÙkj ekuk tk,xk] ;|fi fn, x, mÙkjksa esa ls 
,d mÙkj lgh gksrk gS] fi j Hkh ml iz'u ds fy, mi;qZDrkuqlkj gh] mlh rjg dk n.M fn;k tk,xkA

(iii) ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS] vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml 
iz'u ds fy, dksbZ n.M ugha fn;k tk,xkA

Note : English version of the instructions is printed on the front cover of this booklet.

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa
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